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IBPS RRB Vacancy Trend
Posts 2020 2021 2022 2023 2024
RRB Clerk 5076 7001 4483 5538 5585
RRB PO 4201 4846 2676 2485 3499
Agriculture Officer 100 26 12 60 70
Marketing Officer 8 42 6 3 11
Treasury Manager 3 10 10 8 21
Law Officer 26 28 18 24 30
CA 26 33 19 21 60
IT 59 60 57 68 94
General Banking Officer 838 940 745 332 496
Scale III Officer 156 215 80 73 129
Total 10493 13201 8106 8612 9995
IBPS RRB PO Prelims Cut Off Trend
In the following table, IBPS RRB PO prelims cut off trend of last 5 years is given.
States 2023 2022 2021 2020 2019
Andhra Pradesh 39 53.5 52.5 52.75 58.5
Assam 50 49.5 45.75 41 41.5
Bihar 45 56.75 56.25 48 58
Chhattisgarh 49.75 54 48.5 43.25 55.5
Gujarat 52.75 55.75 57.25 59.75 43.5
Haryana 54.75 61.75 59.5 60.5 64.5
Himachal Pradesh 55 59.75 57.5 56.5 59.75
Jammu & Kashmir 46 51.25 47 52 55.25
Jharkhand 51.5 59.25 55 54.25 59.5




Karnataka 35 36 4475 - 46.25
Kerala 48.75 58.25 57.75 - 61
Madhya Pradesh 50 55.25 54.25 44.25 54.7
Maharashtra 46 51.75 53.75 47.25 54.7
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States 2023 2022 2021 2020 2019
Manipur 51.75 - - 56
Meghalaya 35 48.25 - - -
Mizoram 37
Odisha 59.75 - 58.5 62.75 55.75
Punjab 52.5 60.5 60.25 59 63.5
Rajasthan 54.5 60.25 60.75 66 58.5
Tamil Nadu 50.75 - 50.5 54 55.25
Telangana 39 46.75 51 48.25 54
Tripura - 51 48 - 37.5
Uttar Pradesh 53.75 62.5 54.5 47 58.75
Uttarakhand 55.5 62.5 60.75 61 65
West Bengal 53.25 58.25 56.5 52 55.25
IBPS RRB Clerk Prelims Cut Off Trend
In the following table, IBPS RRB Clerk prelims cut off trend of last 5 years is given.
States 2023 2022 2021 2020 2019
Andhra Pradesh 54 71 69.25 76.25 71.5
Assam 65.75 64.25 71 69 64.75
Bihar 68.25 70 73 75.5 74.25
Chhattisgarh 67.5 67.25 71 70.5 75.5
Gujarat 74.25 72.75 76.75 78.25 63.25
Haryana 75.25 75.5 75.75 76
Himachal Pradesh 73.75 72.25 74.25 71.25 71
Jammu & Kashmir 68.25 64.5 72 73.5 -




Jharkhand 74.5 72.25 76.25 - 58.5
Karnataka 60 67.25 70.75 NA 65.25
Kerala 69.75 76 77 NA 75
Maharashtra 71.25 67 73.75 67 69.25
MP 72.5 70.25 72.75 66.75 68.25
Odisha 76 77 78.5 79.75 73.75
Punjab 74.75 74.25 76.5 78.5 77.5
Rajasthan 75.25 75 76.75 78.75 75.25
Tamil Nadu - 61.25 70.5 NA 68
Telangana 61 61.5 69 71.25 68.5
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States 2023 2022 2021 2020 2019
Tripura 69.5 67 61.5 NA 71.25
Uttar Pradesh 74.25 76.5 76.5 73 74
Uttarakhand 75 75.5 77.5 NA 76.75
West Bengal 73.75 74.75 75.75 77.75 74.75

IBPS RRB PO & Clerk Education Qualification

Candidate must be a graduate in any discipline from a recognized university.

IBPS RRB PO & Clerk Age Limit

Posts Minimum Age Maximum Age
IBPS RRB PO 18 Years 30 Years
IBPS RRB Clerk 18 Years 28 Years

IBPS RRB PO & Clerk Application Fees

Category Fees
SC/ST/PWD Rs. 175
All Others Rs. 850

IBPS RRB PO & Clerk Salar




Posts Basic Pay
IBPS RRB PO Rs. 36,000 pm
IBPS RRB Clerk Rs. 19,000 pm

IBPS RRB Clerk Salary Slip

Adda E H E = # Home @ Dashboard Q, Employee Directory 1 [+
EARMNIMNG AMOUNT DEDUCTIONS AMODUNT
Basi 19900.00BENFN 150,00
it} 7176 | MPs 124300
HRA 2230.60 | NPSEE 3243.00
1, 126340
45H 1940.00
HESE 3243.00
GROGS AMOLUNT 4776296 | TOTAL DEDLCTHIN 663600
HET SALARY:- 3613694
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IBPS RRB PO Salary Slip
Ad da| Eq T| = & Home @& Dashboard Q. Employee Directory l [
EARMING AMOUNT DEDUCTIONS AMOUNT
Basic 16H000.00 | BENFH 200.00
DA, 203ZT.63 | HIPS 5346.00
HRA 292000 | NPSEE 5346.00
SFA 2904 00
HPSE 534600
LERA, 891,06
LOCA 70000
GROSS AMOLUNT MGEE.6% | TOTAL DEDUCTION 10892.00
MET SALARY:- 60796.69
IBPS RRB PO & Clerk Prelims Exam Pattern
Sections No. of Questions No. of Marks Duration
Quantitative Aptitude 40 40 45 Minutes
Reasoning Ability 40 40
Overall 80 80

« Total number of questions: 80
« Total marks- 80

- Total time- 45 minutes (No Sectional time)
« Negative marking- 0.25 Marks will be deducted for each wrong answer.




IBPS RRB PO & Clerk Prelims Syllabus

Quantitative Aptitude

- Simplification & Approximation: BODMAS, Square & Cube, Square & cube root, Indices, fraction,
percentage etc.

« Number Series: Missing Number series, Wrong number series

- Inequality: Linear equation, Quadratic equation, Quantity comparison

- Arithmetic: Ratio and Proportion, Percentage, Number System and HCF and LCM, Average, Age,
Partnership, Mixture and Alligation, Simple Interest, Compound Interest, Time and Work, Pipe and
Cistern, Profit & Loss and Discount, Speed Time Distance, Boat And stream, Train, Mensuration 2D
and 3D, Probability, Permutation and combination, etc.

- Data Interpretation: Table DI, Missing Table DI, Pie chart DI, Line chart DI, Bar chart DI, Mixed DI,
Caselet DI

- Data Sufficiency: Two Statement
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Reasoning Ability
MISSION

« Alphabet/ Number/ Symbol Series:
+ Inequality:

« Syllogism

+ Order & Ranking 5000

« Coding-Decoding IEPS RRE PO & Clerk 2024

- Direction-sense Prelims + Mains + Interview

+ Blood-Relation

« Circular/ Triangular/ Rectangular/ Square Seating & @ a n a,ﬁ m
3 = T = " =

Arrangement ™ - Fl

« Linear Seating Arrangement 4 '

- - -ﬁ-_.-. b )

- Box Based Puzzle Starts: 15dun | 11 amto 5 pm

« Floor or Floor-Flat Based Puzzles
« Day/ Month/ Year-Based Puzzle
- Comparison/ Categorized/ Uncertain Puzzles Miscellaneous

IBPS RRB PO Prelims Subject Wise Trend Analysis

Trend of Reasoning Ability

Topics 2023 2022 2021 2020 2019
Puzzle and Seating Arrangement 23 20 22 25 23
Direction Sense 3 3 4 3 0
Number Based Series 0 0 0 1 0
Alphabet Based Series 0 3 0 2 2
Inequality 4 4 5 3 5
Coding-Decoding 5 0 0 5 5
Miscellaneous questions (Number Based, Word 2 3 3 1 0
Pairing, Meaningful Word)

Blood Relation 0 4 3 0 5




Syllogism 3 3 3 0 0

Total 40 40 40 40 40

Trend of Quantitative Aptitude

Topics 2023 2022 2021 2020 2019
Data Interpretation 10 10 17 10 12
Caselet DI 0 3 0 0 0
Approximation 4 5 5 0 0
Quadratic Equation 5 5 0 5 6
Missing/Wrong Number Series 5 5 6 5 6
Quantity 1 and Quantity 2 0 0 0 5 0
Arithmetic Word Problems 13 12 12 15 11
Data Sufficiency 3 0 0 0 5
Total 40 40 40 40 40
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IBPS RRB Clerk Prelims Subject Wise Trend Analysis

Trend of Reasoning Ability

Topics 2023 | 2022 | 2021 | 2020 | 2019
Puzzle and Seating Arrangement 19 15 15 20 20
Direction Sense 0 0 3 2 0
Alphabet Based Series 3 5 0 5 5
Inequality 4 5 0 0 5
Coding-Decoding 0 0 5 0 0
Miscellaneous questions (Word Pairing, Meaningful Word) 3 2 2 3 0
Blood Relation 3 3 0 0 3
Syllogism 3 5 5 4 5
Alphanumeric Series 5 5 5 4 2
Order & Ranking 0 0 5 2 0
Total 40 40 40 40 40

Trend of Quantitative Aptitude




Topics 2023 2022 2021 2020 2019
Data Interpretation 10 10 10 10 13
Simplification 12-13 14 15 10 10
Quadratic Equation 0 0 5 0 5
Missing/Wrong Number Series 5 6 0 5 5
Arithmetic Word Problems 10-12 10 10 15 7
Total 40 40 40 40 40
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IBPS RRB PO Prelims Previous Year Papers (2023-2022

IBPS RRB PO Previous Year Paper - 2023

Directions (1-5): Study the following information carefully and answer the questions given below: Eight persons P, Q, R,
S, T, U, Vand W were born in different years viz. 1994, 1996, 1998, 1999, 2001, 2002, 2004 and 2005 but not necessarily in the
same order. Base year is counted as 2021.

At most one person is older to P. Two persons were born between P and V. Q was born just before V in the odd numbered year. R

IBPS RRB PO
PRELIMS & MAINS
2024

Complete Bilingual

is 4 years older to T. W is older to U and just younger to S.

A

et forer s fEargde 3reaf Hisrere 3R FRTRT 7T geat H3at e |
AP QR,S, T, U, VIR W T STea T3Ra7-T3ar I0 37::37ae 1994, 1996, 1998, 1999, 2001, 2002, 2004 3R 2005 HgaTm o

fafen ST&d FgT ek et shat g3 11 2021 1 HTUR {Haeh € & A3 ST &

3HeTtToh AT U cafer P 4TSt ¥ P AR v bl Y cafevalh o ofeat G o701 Q T oot Aot Hea PRIy 48ieh
qfega < | R, T {4 JWasT &1 W, U BSTST &31R S §Nh oler &

Q1. Who was born in the year 1998?

YIA1998 FHeehEehT S g3 1?2
(a) P
(b)Q
(R
(AT
(e)U

Q2. In which year S was born?




S T ST el {TAHEHT 31?7
(a) 2002
(b) 1999
(c) 2001
(d) 1998
(e) 2005

Q3. Which of the following statements is true?
(a) P was born in 1994./ P ST Sl=H 1994 ﬁ—g'aﬂ o7
(b) V was born in 1996./ V &T Sl=H 1996 :ﬁi—gm o7
(¢) T is the oldest among all./ T Tt ATsA«ST g

(d) U was born in 2002./ U 3T ST=H 2002 :ﬁ-g’m =2 p MISSION
(e) Ris older than P/ R, P @a8T § 50 00

Q4. How many persons were born between W and T? IBP 5 RRB P D & Clerk 2 ﬂ‘?‘q
W 3R T 3T eafareafardt &7 5o 83m Prelims + Mains + Interview

(@)1 -

(b) 2 R samaes
(C) 3 J v b ,
(d) 4 P P

(e) Cannot be determined,/ feTemaRxcr T3€T gahaT ST ThdT Starts: 15dun | 11 am to 5 pm

8 adda247.com/defence | www.sscadda.com | www.bankersadda.com | www.adda247.com

Q5. Who is the oldest person among them?
BAdaeaasr cafa fat §2

(@P

(b)Q

(R

(d)S

(e)V

Directions (6-8): In each of the questions below some statements are given followed by two conclusions. You have to
take the given statements to be true even if they seem to be at variance with commonly known facts. Read all the
conclusions and then decide which of the given conclusions logically follows from the given statements disregarding
commonly known facts.

FRITET 37T Gedeh TeaT #Hep & S0 3R SHRTAT Y ferserdafew arw &) smoent few 1w it a6t weg A &, @) o {@msAea:
AT d2IT  T8eoT Toiid aidiar| T fosahst 1 afew 3R fox ao Fiaere g fGu 71w st #afenl-ar fswvya amea ara
T bl TSRS FgU T 1T R T dreha & & ATFATOT el B

Q6. Statements: All flowers are plants. Only a few plants are fruits. No fruits is vegetables.
FOT T 7L e ¥ O 5 o i &1 v 77 st PO 81

Conclusion I: Some flowers are fruits.

Conclusion II: Some plants are not vegetables.

fAshiall: o dauesiig |

(a) If only conclusion I follows./ Tfe Y forsehyal W IXATE

(b) If only conclusion I follows./ Tfg hfY [GREAEN fa'\':ﬂ'UT IXATE

(c) If either conclusion I or II follows./ Jf¢ IT Ar fosadal A 11 fa'\qTUT AT g

(d) If neither conclusion I nor II follows./ If¢ = aY fserda1 3 f3 &r 11 W FLATE
(e) If both conclusions I and II follow./ Tf¢ sl 3R 11 T f%'\qTUT Fdg

Q7. Statements: All mammals are bird. All birds are eggs. No eggs are reptiles.

i @l ey ueh §1 it galr 37381 &I 37T 7 dgy g 81



Conclusion I: Some mammals are eggs.

fsahyal: O EGREURER]

Conclusion II: Some reptiles can be birds.

forserdall: o aigy gaf g gadd |

(a) If only conclusion I follows./ Tf¢ HTY forsehyal fﬁ'\qTUT IXATE

(b) If only conclusion II follows./ Tfg f [GREAEN fa'\qTUT AT S

(c) If either conclusion I or II follows./ Jf¢ IT A fosdal A 11 f%'\‘:lTUT AT g

(d) If neither conclusion I nor II follows./ If¢ fF ar Asadar iR 2 Er i f?:lﬂTUT IXATE
(e) If both conclusions I and II follow./ Tf¢ sl 3R 11 T f%'\qTUT Fdg

Q8. Statements: Only a few apples are oranges. All oranges are bananas. Only bananas are grapes.
IO BT Fo AT Hekg | T Feeh F38 | B & 3R &

Conclusion I: Some apples are bananas.

fasehal: $o a9 & F]

Conclusion II: Some grapes are not oranges.

forsensall: o 3oy FaRet €1

(a) If only conclusion I follows./ Tf¢ m forsehyal fl\j'\qTUT IATE

(b) If only conclusion II follows./ afe asﬁ [GREAEN fa'\qTUT FATE

(c) If either conclusion I or II follows./ Tf& IT @ fAsHval T 11 WUT IXATE

(d) If neither conclusion I nor II follows./ If¢ f ar asdal iR € fS\jFTUT IXATE
(e) If both conclusions I and II follow./ If& ferserdal 3R 11 fAT 3ya<or weas
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Directions (9-13): Study the following information carefully and answer the questions given below:

Nine boxes are arranged one above the other. More than four boxes are placed below the box G.

Three boxes are placed between box G and box H. The numbers of boxes are placed above box H is same as the numbers of
boxes placed below box C. Box A is placed two places above the box E which is placed just above the box I. Box F and box H are

not placed adjacent to each other. Box B is placed above the box D but placed below box E.
fArafafaa farer &1 Rargds sreaf fraert 3 R 71w geat #3a fae)
2} STerg Y Teh HFW U ToTod GohdT 31T & | 19T G PR A37Tere dieg RTe g

ST G 3R Steq H S oY sieg Rarw §1 §ieg H F3R R0 siqq S g7, dieq ¢ PRRere sieg fir gear »afar gl
i d E, sToTaaiad [ hdleh F9X RT IAT §, diekd A 1 3TTAT G207 39 RT 911 81 Sird F 3R 18 H Tahi-iieh 3T HeoT o] RITT

&1 ST B & a1 D X R1 3131 fgefer sfeq E & O Rram g1

Q9. Which box is placed exactly in the middle of the arrangement?
fot-ar die g ani-:yr FHTh AL ART I AT %‘7

(@) A

(b)E

(9cC

(d)D

() None of these / SHAHIS FIET

Q10. How many boxes are placed between boxes A and I?
Jrerd A 3R 1 dhdlra gahfaared Rerw 87

(a) Two/ For

(b) Three/ Tl

(c) One/ Tsh

(d) More than four/ IR H37TtIH

(e) None of these / %ﬁlﬂaﬁ%’ gt

Q11. If box F is placed immediately below box D, how many boxes are there between boxes F and G?

g7 9iag F 1 91 D $é1sh FORIRT a7 €, af §19hF F 3K G i ganfaeiad 82
(a) Two, for

(b) Three/ for

(c) One/ Tsh

(d) Four/ T}



(e) None of these / BHARS fOgY

Q12. The numbers of boxes are placed between box G and box H is same as the numbers of boxes are placed between
box___andbox___.

S1FT G 3R ST H Shara R st i gear 3T & gaerfar sieg _ iR sfeg __ ahdlra Rete steg i gear

g1 (@) CH

(b)E G

()G A

(dHB

(e)I,C

Q13. Which of the following statement is true?
I. Box F is placed above the box E
Sierd F T 91 E 30 RTITE
II. More than two boxes are placed between box A and box [
e A 3R dierd [ el 2y Q3reTeres sied Rere §
I1I. No box is placed below the box H
sterar H RIS e gl R arar &
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(a) Both II and 111/ 11 3i% 111 fi2Y
(b) Only I/ X 1

(¢) Both Iand 11/ 1 3R 11 2T

(d) Only I/ & X 11

(e) AL, Il and 111/ 3T 1, 11 3R 111

Directions (14-16): In these questions, relationship between different elements is shown in the statements. These
statements are followed by two conclusions. Mark answer as

T oealt #, ST H FAoldtest a7t & drg day foyaar mar g1 8 HFERT & o1 2 foserda §1 301 1 ol §9 7 3icehd Histor|

Q14.
Statements FYT: [<JsL=M:K=0=P
Conclusions, . | J=P ILM=P

(a) If only conclusion I follows. / Tf¢ &Y sy | faﬂTUT FATE

(b) If only conclusion II follows. / Tfe; &Y fosdq 11 T@HTUT FIATE

(c) If either conclusion I or II follows./ If¢ IT A s 13 11 fﬁ'\‘R’UT FXATE

(d) If neither conclusion I nor II follows. / af¢ T & faseda 1 3iR f3 &r 11 @FTUT IXATE
(e) If both conclusions I and II follow. / Ife AT fasadg 131k 11 @?TUT g

Q15.
Smatements TYU A<K<T=C>¥;T=N>P
Conclusions/ red. 1.y > A ILC>P

(a) If only conclusion I follows. / Tfe Y fasmdg | fﬁﬂTUT FXATE

(b) If only conclusion II follows. / af¢ 371'\{ foshdq 11 fﬁHTUT FIXATE

(c) If either conclusion I or II follows./ If¢ a7 ar AseNa 13T 11 fa'FITUT FLATE

(d) If neither conclusion I nor II follows. / a7 & ar s 3R & i fij'\qTUT FXATE
(e) If both conclusions I and II follow. / Tfe; T faseda 133 11 faﬂTUT g

Q16.
Statements; TFYT: GeH>1=L<M; V=K<
Conclusions/ B ARV ILL=0D

(a) If only conclusion I follows. / afe Y fasehva | 3T ear &
(b) If only conclusion II follows. / Tfe HTY forswdq 11 T e &
(c) If either conclusion I or II follows./ Ifg IT af fasshda 1 AT 11 ﬁiﬂTUT FATE



(d) If neither conclusion I nor II follows. / a7 & ar s 3R 2 & i f@l’HTUT ATE
(e) If both conclusions I and II follow. / Tfe TN fasemda 13k 11 @FTUT Crr ik

Directions (17-20): Study the following information carefully and answer the questions given below: Certain numbers of
persons sit in a row and face north. A sits 3™ to the left of F. Three persons sit between F and R. R sits 2™ to the left of C who sits
just left of V. One person sits between U and V. U sits right of C. B sits 2" to the left of N and 3™ to the right of U. Q sits 3™ to the
left of D who sits just right to A. The numbers of persons sit between Q and R is one more than the numbers of persons sit to the
right of N. No one sits left of Q.

fAFiafad frehrY 1 fearqde gl dhieerv 3R ) fgT 1w geat & 3ok fereru|

fAfea dear # i e i & 98 § 3R 3R A1 3R G A &1 A, Foh 918 @ e T W dar 81 F 3R R & o et eafer 4
gl C, IV & Sk It 3R JoT &, R 30 a3 § TR T W Ser g1 U 3RV &g tah eafal dor 81 U, C & Fae ST 81 B,N &
o & TRy A O 3 U 36 PN < el | 0% daT 1 D, S A % B R daT &, Q 3 o & v | X o &1 Q AR R
& v &5 caferlt &7 wEaT, N & T 3R & cufart T G & U e ¥ Q F a1 3R S O dor 2
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Q17. How many persons are there between D and Q?
D 3R Q & & gapfct =TT 82

(@1

(b) 2

(c)3

(d) 4

(e)5

Q18. Which of the following statements is true?

Rt SR & Rl aea &7

(a) B sits to the immediate right of N./ B N & &Ie ford Sar 8

(b) U sits at one of the ends of the row./ U Gfe & gadll Teh BR WX T &
(c) A sits to the immediate left of F./ A, F & & &8 3R ST §

(d) V sits at one of the ends of the row./ V Ufel & &Y Teh DR T ST &
(e) C sits second to the right of R./ C, R for=F & f\,\{:l'l' Q;[f\l' WIsTE

Q19. How many persons sit in the row?
ofet 7 gehfa safer 9 82

(a) 19

(b) 21

(c) 27

(d) 17

(e) 18

Q20. How many persons sit between V and B?
V 3R B & &9 gahid eafel 346 &2

(@9

(b) 2

(c) 4

(d)7

(e)8

Q21. In the number ‘479486553’, if odd digits are subtracted by 1 and even digits are subtracted by 2. Then, what will
be the sum of the digits which are 2", 4™ and 6" from the left end in the new number formed after rearrangement?
TET '479486553' H, IS LA 3iehl 7 A 1 TN ST 3R FH 3t A & 2 TR 1T, A [Yegagar & far & 55 dear # 4w
R & T, Ty 3R o 3T 1 AT T g

(a) 13

(b) 14

(c)12

(d) 16

() None of these/ B & #1 TgT



Directions (22-26): Study the following information carefully and answer the questions given below:
frafafad farer 1 fargdes 3reaf freerv iR =) fGw 1w geat & 3aw s
In a certain code:/ U fafad % < #:

“Shuffle new word” is coded as “xf bf go”

“Shuffle new word” & “xf bf go” & &I & HETCY EhdT 1T g

“New word towards corner” is coded as “xf bf hu hh”

“New word towards corner” @I “xf bf hu hh” & &7 & HETCY GhIT IAT 3

“Towards chapter word table” is coded as “hu qt bf dm”

“Towards chapter word table” @I “hu qt bf dm” & ¥ & HEICY Sh AT IAT 3

“Table around towards” is coded as “dm ch hu”

“Table around towards” @ “dm ch hu” & &9 & HICY Sh AT IAT 3
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Q22. What is the code for the word “Towards”?
9f “Towards” & T & T a1 37

(a) bf

(b) hu

(c) qt

(d) dm

(e) None of the above/ 3URT 7 & FI T3gT

Q23. What is the code for the word “chapter”?
“chapter” 3 & AT T 1 §?

(a) bf

(b) hu

(c) qt

(d) dm

(e) None of the above/ 3uRT H & a1s FogT

Q24. Which of the following word is coded as “ch”?
frafea 3 & qera 9fS &1 "ch” & &9 7 & caqy g AT §?
(a) New

(b) Word

(c) Towards

(d) Around

(e) None of the above/ 3aRT # & 15 FgT

Q25. What is the code for the word “Table new corner”?
“Table new corner” Etf\ & T ST g7

(a) bf go hh

(b) hu hh dm

(c)gtchhu

(d) dm hh xf

(e) None of the above/ 3URY & & &g 2T

Q26. Which of the following word is coded as “xf”?
rafafed 7 & cohe 92 &1 "xf" F T 7 § cagy g T §?
(a) New

(b) Word

(c) Towards

(d) Chapter

(e) None of the above/ 3uRT H & a1s FogT

Directions (27-31): Study the following information carefully and answer the questions given below: Seven persons from
M-S live in seven storey building and belongs to different countries viz. Italy, Canada, Germany, China. Spain, India and Brazil
but not necessarily in the same order. The bottom most floor is numbered as 1 and so on till the topmost floor is numbered as 7.



S lives two floors above the one who belongs to Brazil and live on prime numbered floor. More than two floors gap between S
and the one who belongs to Canada. N belong to Spain and lives three floors below the one who belongs to Canada. O lives just
above the one who belongs to Italy. The numbers of persons live below M as same as live above R who lives just below P. The
one who belongs to China lives just above the one who belongs to India.

fArafafaa farer &1 Rargds sreaf freere 3 f e arw gest & 3a¢ e
M & S doh A cTfel AT FATOT SART 7 T & 3R daistest o] 3roqad i, fpmsr, sraAfd, 7, Y, sra ik e ¥ &
fefes Sredr 8T aeh 22 shet 31 g1 | Ty ATl FHaAfor T 1 W shieehd geham 14T § 3R SE TR e i §U T S
HeATS I 7  hAGHd GhAT AT ¢
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s, SN & Haieteret cafey & oY FafSy SR Lo & 3 3¢Toar e Fogly Ay o T@elr @1 5 34 FobrsT & Hfrerey cafey & ey
o1 HATS @ 3reTereh & A &1 N 09 @ Felererd & 3R fohrst & deererd cafal & foft 711 f290 gam 81 0 3 & defererd safer
3 81 SR TEt &1 M 3 P TR P caferat i i, b v v < oy R 36 e <f Ry et i i & w1 5
=l filt & 8, § 9 @ FeeTerd gt & b S W@l ol

Q27. Who lives on the 5" floor?

53 Fafor 9X font Tgar 82

(@Q

(b)S

(c) The one who belongs to Italy/ & <afel AT 3f& & Heatra &
(MR

(e) Both (a) and (c)/ (a) 3R (c) AT

Q28. Which country does O belong to?
0 & TR & Heea1ed g7

(a) India/ AT

(b) None of these/ 88 & 15 FgT

(c) Brazil/ STfSiY

(d) China/ =Y

(e) Germany/ STHTAY

Q29. How many floors are there between P and the person from Canada?
P 3R fhrer & <afey & ST gahfdl Aot €2

(@1

(b) 2

()3
(d) 4

(e) Cannot be determined/ fTemaR T F3€r gaham ST TeheT

Q30. Which country does the person on the 3" floor belong to?
el 7S & cafe e T 87

(a) Germany/ STHTAY

(b) Brazil/ sTTaiY

(c) Italy/ 37&

(d) China,/ =Y

(e) Canada/ 13T

Q31. If all the persons live in alphabetical order from top to bottom then how many persons remain at the same
position (Excluding M)?

Iie @efl st e I & Fa fer o7k oiigshal H @ & off aohid egfel Teh &1 Ffor 0¥ o T 82 (Mt

BISHT) (a) One/ Th

(b) None/ #Ig Fet

(c) Two/ f&r

(d) Three/ fofr

(e) More than three/ fdt & 37787



Directions (32-34): Study the following information and answer the questions given below: W walks 8m towards west
from point P to reach point Q. He takes a left turn from point Q and walks 10m to reach point R. He takes a right turn from point
R and walks 12m to reach point S. He takes another right turn from point S and walks 6m to reach point T. He takes a left turn
from point T and walks 8m to reach his home.
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At fod TR T 3rea R Hieterv 3R 2 e 310 geat & 3w faerv|

6if Q e T & T W eif p & aferat Y 3R 8 Alex AT &1 € 965 Q & 919 3R AT & 3R 516fy R Foh 9g Yy & frw 10
#Aex R g1 & 96t R A F0$ 3R A3 & 3R 96y s o 9 & A 12 e R g & s6fy s & veh o &3 ford agsar g 3R
e T e TET & AT 6 #iex Rar §1 & 9afy T3 S1¢ a7z & 3iR 3 e o g & fv 8 #liex R g

Q32. In which direction is point T with respect to point to Q?

STy Q % TTIeT & 99 T g R H {2

(a) North/ 3d¥

(b) South/ f3aTeToT

(c) South-east/ f\o-T&TUT-q“ﬂ'

(d) South-west/ fsTeTor-afeia®

(e) North-east/ W-q‘ﬁ

Q33. What is the shortest distance between point S and W’s home?
W & R 3R §6f] S & dra fogas fofr il 87

(a) 22m/22 #eX

(b) 10m/10 HIeX

(¢) 12m/12#eX

(d) 26m/26 HreX

() None of these/ B & #1 Togr

Q34. What is the total distance travelled by W?
W EaRT 3 &7 978 F > Fly ahfelr &2

(a) 47m/47 eI

(b) 40m/40 e

() 44m/44 HreX

(d) 41m/41 Frex

(e) 36m/36 FeX

Q35. Find the odd one out?
3GHT ITA SIeToTT ST Aot & |
(a) UPR

(b) RMO

(c) LGI

(d) GBE

(e) YTV

Directions (36-40): Study the following information and answer the questions given below: Eight persons sit around a
circular table in which some of them face inside and some of them face outside. H sits 3™ to the right of K and both face the
same direction. I sits opposite K but both face opposite direction. L sits 2™ to the right of I. F sits opposite D who sits 2™ to the
left of E. Immediate neighbor of E face opposite direction as E faces. G sits 3™to the right of D and not an immediate neighbor of
I and K. L and E face inside. G and F face the same direction.

fArafafad farery #1 3reafd e 3t 2 fow arw geat & 3a) e

3T ATl Toh TR AT & URT HR &S &, ATTH & o o1 [ AR AT A ARG A F I Hr 3 E I H K o 4
e g oY dor g 3R N o7 1 |far o & 81 1, K& 7 dor & foafen Tl o1 1 adlia feog & 3 g1 L1 & fore
R FFT R ST 81 D, ST E o 1T F38R FfOT IR 43T &, F 30 AuId da7 §1 E o [ehead Isiel &1 i E & ol fGoq A 81



G, D & T2 & I FIoT 9X &7 & a7 1 3R K &7 fAeshedd gsidl foel &1 L 3R E 1 77 3R AT AR g1 G 3R F a1 [ afar
g # T
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Q36. Who sits 3" to the left of F?
F & 910 & JraX FioT I foht o 82
(a)H

(b) L

(@1

(d)G

(e) None of these / B3 & #15 T3gT

Q37. Who sits opposite the one who sits just right of G?
G & 81 FOIT 8 safar & A9 font St 82
(@)L

(b) I
(cJH

(d) None of these / 38 & 1S F3¢T
(e) F

Q38. How many persons sit between E and I when counted from the right of I?
13 O 3R A AN SR WEINR IF o erfad ax s &2

(a) Four/ IR

(b) Three/ foir

(c) One/ Tsh

(d) None/ &g ft

(e) Two, for

Q39. Which of the following is true?

fAFIfAfad & & fonl-ar @gr g2

(a) G sits 2"to the left of I/ G, I*WW%WW%%’

(b) H and F face the same direction/ H 3R F Ta & oy I 3R 3'%’1 g

(c) L and D are immediate neighbors / L 3R D fAseasm usiT &

(d) E and G face opposite direction to each other / E 3iR G W—f:ﬂ'l’ Fr 9T oy I 3R 3%41
& (e) All are true/ T T &

Q40. Who are the immediate neighbors of E?
E & [Aheas gsidr font §7

(@) Kand F/ K 3R F

(b) Land D/ L3R D

(c)Gand K/ G 3R K

(d)Tand H/ 13X H

(e)Dand G/ D3R G

Q41. A and B entered into a partnership business with investment of Rs. 1300 & Rs. 500 respectively. After six months,
C joined them with investment of Rs. 1800. At the end of a year, the profit share of C is Rs. 360. Find the difference
between profit share of A and B.

A 3R B 73 hAT: 1300 39 3R 500 39 & fo¥o: T o AR AN & Ueh cqHl 1T & SohdT| ©F AT o a1, 1800 F9 & A0
& R € 3% AR 3 TAT| Ueh {9 & 37 H, CH1 187 360 T &1 A 3R B & 2137 & el 3 A1 fetorv|

(a) 480 Rs./ 480 T

(b) 280 Rs./ 280 T4

(c) 400 Rs./ 400 9

(d) 320 Rs./ 320 T4

(e) 180 Rs./ 180 ¥IX
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Q42. Five years ago, the average age of A and B was 15 years. The ratio of present age of A and C is 6 : 5 respectively. If B
is four years younger than C, then find the sum of present age of B and C (in years).

qier e, A 3R B & 3 3715 TadT| A 3R C T TafaAT et 3ard $#AT: 6:5 §1 IS B, C AuR {Wasier g, dr B 3R
C T AGTAT YT TN (IHGH) AT Ao |

(a) 34 years/34i:5|3

(b) 32 years/32 i:GIT:I'

(c) 36 years/36 38T

(d) 24 years/24 389G

(e) 40 years/40 (9T

Q43. The average weight of eight people is X kg. Two new people joined them with total weight of 151 kg and average
weight of all people increased by w@@kg. If the weight of lightest people out of two people joined is X-5 kg, the find the
difference between weight these two people who joined later.

376 eg et &1 Jid 57 X gfeprammer §1 2 o foer 3% @R ofs 910 aiferehr % 123 57 151 gfehramer o7 3R welt oyt & stvaa
o *2 4 -afontana fa o) 3 « mﬁwﬁﬁvﬁﬁﬁmﬁﬁvﬁwﬁx-saﬁﬂw%ﬁ%ﬁ reTfar feT FoxT oy
X & T & & #7 3R A1 ST

(a) 27 kg/27 EfpramaT
(b) 21 kg/21 i
(c) 15 kg/15 GfhrammsT
(d) 25 kg/25 gfepramar
(e) 22 kg/22 EfpramaT

Q44. A gets 40% marks in an exam and he received 40 less marks than passing marks. B gets 70% marks in same exam
and received 20 more marks than passing marks. If C gets 65% marks in the same exam, then find the difference
between marks received by A and C in the exam.

A T TH TET F 40% 37 UTTd 8ld ¢ 3 3T 30T 3/ T 40 376 HH 9Icd 8ld &1 B Y 38T 98T & 70% 3 gred gl &
AR 38 3AoTa 3R & 20 3 3HeTUH UTed 8 & | ARG C T ATAT IN&T F 65% 37 ATAd &, ar I8 H A 3R € gaRT 9red 37t
& &M R AT FIATT|

(a) 30

(b) 60

(c) 40

(d) 25

() 50

Q45. A man invested Rs. P in scheme A on compound interest at rate of 10% p.a. for two years and he invested Rs.
(P+500) in scheme B on simple interest at rate of 12% p.a. for same period of time. If the interest received by man from
scheme A is Rs. 150 less than that of from scheme B, then find amount invested in scheme B. Te &3l [ IfST A 7 for
T & AT 10% o qLoaen O @ TeholeTets sarel W P &9 &7 foo gohar 31 3 @A 3t & e 12% olvwas B
Wwwmsﬁ(mwmmwﬁr X &haT| ITE <Tfet I ANTAT A & UTeT &I1o1, ANTAT B & Yo eI1a1 & 150 T4
&, A R B & o &1 918 TR <A1 PiefoTe|

(a) 1250 Rs./ 1250 93

(b) 1000 Rs./ 1000 T9&

(c) 1500 Rs. /1500 9

(d) 2000 Rs./ 2000 I

(e) 2500 Rs./ 2500 39

Directions (46-50): Find the wrong number in the given number series.

Y a18 weear Ao Affia Fear A Seev|
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Q46. 6400, 400, 50, 12.5, 6.25, 3, 12.5
(a) 400



(b) 12.5
(¢) 6.25
(d)3
(e) 50

Q47.34, 32,36, 30, 38,48, 40
(a) 34
(b) 32
(c) 48
(d) 36
(e) 30

Q48.43,47,56,72,108,133, 182
(@) 72

(b) 56

(c) 43

(d) 47

(e) 108

Q49.12, 28, 60,108,172, 256, 348
(a) 12

(b) 28

(c) 60

(d) 256

(e) 108

Q50.3,7,27,112, 565, 3396, 23779
()7

(b)3

(c) 27

(d) 565

(e) 23779

Directions (51-55): The table given below shows the total number of rooms available in the five different hotels (A, B, C,
D and E). It also shows the number of vacant rooms in these five hotels. Read the data carefully and answer the
following questions given below.

T 918 Arfevenr oier T3797-T3797 81T (A, B, €, D 3R E) #3str et &1 3 7 dean foograch §1 I 13 o gifeh A et &
e foqrach §1 3tienst &l Feargdes 3reafd fisrerv AR R arv farafafad gest #3a s

Hotels! Total number Voerant
flm of rooms/ rooms Eﬁﬂ'
HEI B T FH
HE

H 220 110
B 250 150
c 280 180
D 260 130
E 310 170

Note: Total number of rooms available in a hotel = Vacant rooms + Occupied rooms

fote: wep gife A3y st i 3 2 wear = ol was g e
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Q51. Find the average number of occupied rooms in hotel B, C and E together.
gife B, € 3R E AAATRR 91X §U T BT AT HEAT A1 HleforT |

(a) 130

(b) 120

(c) 140



(d) 150
(e) 110

Q52. In hotel F, total number of rooms available is 25% more than that of C and the number of rooms occupied is 40%
more than the rooms vacant in hotel E. Find the total number of rooms vacant in the hotel F. 8¢ F #30t Ry &r g =
HET, C HSTIS ARl BT 5 5 HEAT H 25% T 3T HGU HA T TN, §fe E AT H1 1 qr 740% 3e7ereh ¢
gife F AN et & o 1 dean w1 dieeie|

(a) 184

(b) 180

(c) 176

(d) 182

(e) 178

Q53. The cost of a room in hotel A is Rs. X and the cost of a room in hotel C is Rs. Y. If the revenue generated from the
hotel A is Rs. 55000 and the ratio of revenue generated from C to A is 10: 11, then find the sum of Xand Y. E’I‘fé' AHTH
FAY HT HAT XTI ¢ 3R 8T € 7 v Fa H FAT Y 393 §1 IS @i A gaRT 31eiad 31 55000 I § T4 € 3R A garT
3otad 3T &M T3UTT 10:11 8, A X 3R Y &7 197 7T Hifaiv|

(a) 2000

(b) 4000

(c) 5000

(d) 3000

(e) 1000

Q54. Find the number of rooms vacant in D is what percent of the total number of rooms in the hotel B.
AT TSIV &eh D AT T il HET, B B HeheRt &l & 13 T &1 gehfcl el 87

(a) 55%

(b) 52%

(c) 58%

(d) 60%

(e) 62%

Q55. Find the number of rooms occupied in hotel A and D together are how many more/less than the number of rooms
occupied in hotel E and B together.

A 3R D AATATHRY $RGU HFRT BT TN, Q1 E 3R B AATATRT $RET A Y T&AT deshichh

37TUH/FA 82 (a) 60

(b) 80

()50

(d) 20

(e) 70

Directions (56-60): What approximate value should come in the place of question (?) mark in the following questions.

AT et AuRasTw™ (7) Hafor W gwhiar FaArfaa far 3 aege?

Q56.
10797

98.99 + 19.96 - 101.03 =
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(a) 2
(b) 4
(96
(d)8
(e) 12

Q57.



V7= (27.99) = 1180.03 4 (20.07)°

(a) 64
(b) 100
(c)16
(d) 36
(e) 144

Q58.

19.09% — 20.04% of 190.04~-7 = 90.12
19.09° — 190,04 H 20.04% —7=90.12
(a) 233

(b) 247

(c) 212

(d) 202

(e) 285

Q59.

32.01 + 1992 x 127.99
(@11

(b)9

(c)8

(d)10

(e) 12

B
a

Q60.

(a)8
(b) 12
(c)10
(d)9
(e) 14

Q61. In a mixture, the quantity of milk is x liters and water are 8 liters. Five liters pure milk and six liters of water
added in the mixture so that milk becomes 75% of resultant mixture. If 10 liters of resultant mixture is removed, then
find the remaining quantity of mixture (in liters).

e THRUT A 1 AT x e 3T Ry iy AT 8 FNex &1 w107 uia e < ey Fr 3R o e Rt fdArar srar daes
Foer TRROTTHT STFR0T &1 75% f ST | Afe TRROTMHT s1FvReT 10 Fex fAfenT feam Sre, ar Aot dr <} A (e #) ara
HIATT] (a) 48

(b) 42

(c) 56

(d) 46

(e) 37
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Q62. In a right-angled triangle hypotenuse is 8Y10 cm and based is half of the height. If height and based of the triangle
are equal to height & radius of a cylinder, then find
curved surface area of cylinder.

Teh HAIVT AT H HUTT 8V10 WA § 3R TR 3 T1S o1 ITEM & | TS ST T 5 =1$ 3R 3TR Teh T 1 35 =r$ 3i%
AT & SR g, Al 7T 7 5 G817 1Ty A1 hretorv |

(a) 5127 cm? /51213 H

(b) 256 m cm? /256 1 AFH2
(c) 128 w cm? /128 T



(d) 556 m cm? /556 1w THT
(e) None of these /f3# & g fgT

Q63. The ratio of speed of P to speed of Q is 5:8, P covers D km distance in 3 hours and Q covers (D+40) km in 2.5 hours.
If P increases his speed by 25%, then find the time taken by P to cover (D+180) km distance. (in hours) P ¥ T &r Q T
T & 31 5:8 §, P, D ganelt 1 Y 3 6¢ & 99 T & 3R Q (D+40) &haT T Fill 2.5 ¢ H a7 X &1 Ife P 31f: &1 25%
fa1 far &, dF P @RT (D+180) aahaT I FlT o R # T4 13 @77 A1a fierv| (g9t #) (a)6

(b)5

(c)8

(d)7.5

(e)4.5

Q64. The sum of five consecutive multiples of four is 200. Find the smallest multiple.
TR & T AT A[UTSi T 13T 200 §| TGN BT IUTST AT Hhledoiv |

(2)28

(b)44

()36

(d)32

(e)40

Q65. The speed of boat A in still water is 4 times the speed of stream and covers 24 km upstream in 8 hours. If the
speed of boat B in still water is 2 kmph more than the speed of boat A in downstream, then find the time (in minutes)
taken by boat B to cover the same distance in upstream.

it Ty o FOrT A 1 R, ey oY T 37 4 AT & 3R 8 6 3 T ¥ AT 24 gl Y Y A A 1 AR o Pl R B
S o, arT ¥ B © R A S R ¥ 2 qorelt e Her e §, A ORT ¥ T At 0 aw wi o R B gan fvar
gAY (AfACT #) A1d Hiaav]

(a)210

(b)180

(c)240

(d)300

(e)360

Directions (66-70): The bar graph given below shows total number of A
people
(Vegetarian + non-Vegetarian) visited in five (A, B, C, D and E) different

restaurants daily. Read the bar graph carefully and answer the
questions.

o e arar g i3 werafie i Aa1ste= 3¥eke (A, B, ¢, D 3R E) & f&r

(=TGR + AHTGIRY) T & 1 Feear &1 foogradr g1 755 3 fEarqdes giqe 3R geat
& 3 e

21 adda247.com/defence | www.sscadda.com | www.bankersadda.com | www.adda247.com



Q66. Total vegetarian people visited in F are 00000000 of total non-vegetarian people visited A and total
non-vegetarian people visited in F are 50% more than total vegetarian people visited in B. Find total people visited in F
are how much more than total non-vegetarian people visited in D.

F 3 T3 fORT & 12 oqreprery f2Ver, A& 3 ) o 2 ararg Ry foXatt & €, 08 31K F & TS Xy o 12 \remg iy foyeit hr @, B
sfrﬁ’rf\frgs?\ qeRIgRY el &t QT & 50% 3reTeres B mmﬁFﬁﬁ’ff\ﬁff\ﬁﬂ D # 3T f2Rr % 1 aramery
forait & iy & ehfa areTersh &2

(a) 210

(b) 240

(c) 260

(d) 200

(e) 180

Q67. Total non-vegetarian people visited in C and D together are what percent (approx.) more or less than total people
visited in B.

C 3R D & AT 71w % T ArATg Ry 2191, B & 970 & 73 2t oy ey o gohfal severet (famsren) tetersh
JrFHA? () 83%

(b) 67%

(c) 44%

(d) 71%

(e) 69%

Q68. If daily same number of vegetarian and non-vegetarian people visited in restaurant D, then find total number of
people visited in a week in restaurant D.

I [T D & Yeidiie FfAT H&ar # «qeheRT 3R AGERY YT S &, @ Weke D & veh gedrg # TS oy foval & 3 7
HEIT JATd Il |

(a) 1290

(b) 1330

(c) 1310

(d) 1320

(e) 1270
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Q69. Find the ratio of total people visited in E to that in A.
E# a0 & 3 foXatt a1 A & 710 o 72 FOit & T3[uret <A1t Shiereie |
(a) 23:21

(b) 25: 27

(c)23:25



(d) 23:27
(e) 28:27

Q70. Total vegetarian people visited in A are what percent more than average number of non-vegetarian people visited
in B and D together.

AH T F T3 o qeprgrY F2XT, B AR D A ATATRT 1T ATGTERY FOXN Y 3T Fear & gohfd Seterd

HeTUH 87 (a) 25%

(b) 5%

(c) 10%

(d) 20%

(e) 30

Q71. Average of present age A, B and C is 14 years, while four years ago, average age of B, C and D was 15 years. If the
sum of present of A and D is 27 years, then find the age of D five years hence will be (in years). A, B 3{k C &r Jafar 3Ig
o1 3T 14 {99 §, STeeeh IR {9 afeB, € 31 D 7 3iaa 3mg 15 {oa f | afE A 3R D & dafdr smg & ey 27 e g, ar
qier {9 a1 D 1 31 A1 Hietere| (L9 #)

()21

(b) 26

(c)17

(d) 27

(e) 29

Q72. A seller has 230 kg of mangoes which he purchases at rate of Rs. 10 per kg. 20% of total mangoes were rotten in

packaging and thrown away. If seller sold half of the remaining mangoes at the rate of Rs. 20 per kg, then at what price

(per kg) should seller sell the remaining mangoes to gain a total profit of 15% on the total quantity seller had initially

(in Rs. /kg)?

Teh &Tsh T o UTH 230 STRIAITH 31T & w7018 § 10 S0 FeTdl Efehraa i Fox @ R §1 3 5 3t 7 @ 20% 31 4ok Sior

s av 3R 3% 2 & fear amm) aﬁaﬂ:mﬁ?aﬁ@mﬁﬁmaﬁzo T UoTc & (ohldITeT ohT FoX & ST &, aF ofsh o &l <W

3THT Y S PIHAT (Felc SiPITH) T AT ATET clleeh aTsh ol 1 o3& H F T AT IR 15% 1 % 3 Forer uree g ash 2

(FA/ETPRIA #H) (a) 8.75

(b) 8.25

(c)85

(d) 9.25

(e) 9.75

Q73. 30 women working 9 hours in a day can pack 1000 parcels in 10 days. If the efficiency of woman is 00000
ooYomore than

that of a man, then find how many men will pack 1500 parcel working 5 hours a day for 10 days. 30

HATRTU ek T 3 9 € h1er otk 10 fI&T & 1000 e 3ok o3 Fevclt €1 I FaART hr Foatar, g o fiqr &
V00000
0o 3TUHR &, Ar
AT AT Eeh Eehicl T¥ 10 &Y ek FeTaifle; 5 e e hteh 1500 Trfd Jeh hiar?
(a) 52
(b) 42
(c) 48
(d) 108
(e) 50
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Directions (74-75): Given below in each question there are two statements (I) and (II). You must determine; which
statement is enough to give the answer of question. Also, there are five alternatives given, you have to choose one
alternative as your answer of the questions:

o few 917 g oeat & foY iy (1) 31K (1) €1 3m9ert Afera FRT §aeh west 1 301 I & v fohl-ar &ioy gamacd 82 sae
T3, O w¥ehod f&T 1T €, 31TeR! 9eaiT & 3R & &9 & Ueh wlchod T ¢



Q74. Find out the length of train X given that speed of train X is 20 m/sec.
& X 1 fiarg A1 FIAerv, STaes fo X Fr f[@ar 20 Aerds s 8|

[. Train X crosses another train Y moving in opposite direction in 6 sec and the speed of train Y is 50% more than the speed of
train X.

fe X T ey 7 o W@ 73l 18 Y Y 6 ek 3 7 aR il & 3R IS Y & =R e X & [T & 50% 374 &
II. Length of train Y is 50% less than length of train X.

&y &Fr fars & X & f3as & 50% & g1

(a) Both I and II together/ 1 31 11 {2 Teh@R

(b) Only statement I/ Y HI 1

(c) Only statement 11/ &2 &Y 11

(d) Both I and II together are not sufficient/ I 3R 11 {2 Teh AR gamacd T8 §

(e) Either I or Il alone/ IT A 31fdh 1 3T 317 11

Q75. Side of square is 3.5 cm more than radius of circle. What will be area of square?

ey T 7T T T ST A 3.5 QAT 37eTeren &1 I bt &7 ram gram?

I. Difference between circumference and diameter of circle is 45 cm.

T &Y TR 3R A & e T IHAT 45 Jel B

I1. Radius of circle is 50% more than breadth of rectangle whose length is 15 cm. Ratio of circumference of circle & perimeter of
rectangle is 3 : 2.

T Y AT, 15 QAT Targ TR 3Trel 1 =1STS & 50% 3HeTereh | e shl TRIAL 3R 31T Sl TR T
faqTH 3:2 %1 (a) Only statement Il is sufficient

(b) Either statement I or Statement II alone is sufficient

7 Ar IR 137 S 11 36 qamaed §

(c) Statement I and II both together is sufficient

(d) Only statement I is sufficient

(e) Neither statement I nor statement II is sufficient

> ar +fog 131 2 & oy 1 raeca &

Directions (76-80): Solve the given two equations and mark the correct option based on your answer.

few I f2Y FeRon &Y & Hraaere 3R 3136 H3MUR 9T el Ahed &l 3igehd hieTelv|

Q76.

(a) if x>y/ T x>y

(b) if x>y/ ITE x>y

(c) if x<y/ T x<y

(d) ifx<y/ I x <y

(e) if x =y or no relation can be established between x and y.

i x = y AT x 3R y Fellg IS TG FoTT9d F08T ShaT ST Tohell &
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Q77.

(a) if x>y/ TfE x>y
(b) if x>y/ I x>y
(c) if x<y/ TTE x<y
(d) ifx<y/ I x <y



(e) if x =y or no relation can be established between x and y.
g x = y AT x 3R y Fella g G ForaTad F2gF genar s
ghdT g

Q78.

(a) if x>y/ T x>y
(b) if x>y/ IS x>y
(c) if x<y/ TTE x<y
(d) if x <y/ IfE x <y
(e) if x =y or no relation can be established between x and y.
aﬁxzymxﬁ?ymaﬁémq&mqaﬁﬁmm
HhdT &

Q79.

(a) if x>y/ AT x>y
(b) if x>y/ TS x>y
(c) if x<y/ T x<y
(d) if x<y/ I x <y
(e) if x =y or no relation can be established between x and y.
qﬁx=yﬂTx3ﬁTquﬁém¥[ﬁm’qﬁfi\iiﬁmm
Hehell &

Q80.

(a) if x>y/ TS x>y
(b) if x>y/ TTE x>y
(c) if x<y/ T x<y
(d) ifx<y/ I x <y

(e) if x =y or no relation can be established between x and y.

afe x = y AT x 3R y Felra g oY FolaTad 26T gepar s

AhT &
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Solutions
S1. Ans.(d)

Sol.



S2. Ans.(a)
Sol.

S$3. Ans.(e)
Sol.

$4. Ans.(c)
Sol.

S5. Ans.(c)
Sol.
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S6. Ans.(b)
Sol.

S7.Ans.(a)
Sol.

S8. Ans.(e)
Sol.

S9. Ans.(b)
Sol.
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A

$10. Ans.(a)
Sol.

A

S$11. Ans.(e)
Sol.

A

S$12. Ans.(e)
Sol.

A

$13. Ans.(b)
Sol.
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A

$14. Ans.(b)
$15. Ans.(e)
$16. Ans.(c)

$17. Ans.(b)
Sol.

$18. Ans.(e)
Sol.

$19. Ans.(c)
Sol.

$20. Ans.(c)
Sol.

$21. Ans.(c)

Sol.

$22. Ans.(b)
Sol.

29
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A

$23. Ans.(c)
Sol.

A

S24. Ans.(d)
Sol.

A

$25. Ans.(d)
Sol.

A
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$26. Ans.(a)
Sol.



A

S$27. Ans.(e)
Sol.
$28. Ans.(e)
Sol.
$29. Ans.(d)
Sol.
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$30. Ans.(d)

Sol.



$31. Ans.(b)
Sol.
$32. Ans.(d)
Sol.
$33. Ans.(b)
Sol.
32 adda247.com/defence | www.sscadda.com | www.bankersadda.com | www.adda247.com
$34. Ans.(c)
Sol.

A



$35. Ans.(d)

$36. Ans.(b)
Sol.

$37. Ans.(c)
Sol.

$38. Ans.(a)
Sol.

A
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$39. Ans.(e)
Sol.

$40. Ans.(c)
Sol.



S$41. Ans.(d)
Sol.

S$42. Ans.(c)
Sol.

$43. Ans.(d)
Sol.

S44. Ans.(e)
Sol.

A
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A



$45. Ans.(c)
Sol.

$46. Ans.(d)
Sol.

A
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$47. Ans.(c)
Sol.

A

$48. Ans.(e)
Sol.



A

$49. Ans.(d)
Sol.

A

$50. Ans.(a)
Sol.
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S$51. Ans.(a)

Sol.



S$52. Ans.(d)
Sol.

$53. Ans.(e)
Sol.

S$54. Ans.(b)
Sol.

A
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$55. Ans.(c)
Sol.
$56. Ans.(c)
Sol.

A

S$57. Ans.(c)

Sol.

$58. Ans.(a)
Sol.

A
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$59. Ans.(d)
Sol.



A

$60. Ans.(b)
Sol.

A

S61. Ans.(d)
Sol.

$62. Ans.(a)
Sol.

$63. Ans.(a)
Sol.

A
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S$64. Ans.(d)
Sol.



$65. Ans.(c)
Sol.
$66. Ans.(b)
Sol.
$67. Ans.(c)
Sol.
$68. Ans.(b)
Sol.
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$69. Ans.(d)
Sol.

A

$70. Ans.(d)



Sol.

S$71. Ans.(b)
Sol.

$72. Ans.(a)
Sol.

$73. Ans.(d)
Sol.

A
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S$74. Ans.(a)
Sol.

A

$75. Ans.(b)
Sol.



$76. Ans.(a)
Sol.

A
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S$77. Ans.(e)
Sol.

A

$78. Ans.(a)
Sol.



A

$79. Ans.(c)
Sol.

A

$80. Ans.(b)
Sol.

A
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IBPS RRB PO Previous Year Paper - 2022

Directions (1-5): Study the following information carefully and answer the questions given below:

iAo fomerRY &1 farqde 3reafd ferert 3 f e 1w gest & 3R fere:

Eight persons sit around a square table and four of them face inside while four of them face outside. Four
persons sit at the corner and rest four sit at the edges of the table. O and N face each other. P sits 2" to the
right of N. L sits just left Q who sits at corner of table. Q faces outside. M and Q are immediate neighbours
and face opposite direction to each other. P face opposite direction as R and S face. S does not sit just left
of P.

3176 e el Teh MaehR AT o TRT 3R 93 8 3R BH & TR 31X 1 3R 377 § STaeeh B3H @ U a6 Hr
3T 31 81 IR i AT o ol 9T 3R AW IR AT T ¢l W IS &

0 3R N Th FEY 1 3R 37 81 PN & R & fgey FRr R dar 81 L, Q o 8teh a1 Ja1 &, Q St AT o fobl
W o1 §1 Qe T 3N 3 & | M 3R Q Aeheas ysiell § 3R v gy o oo fear 1 31 377 8
P, R 3R S T w7eRYcT feremm &1 3R 3f= &1 S, P & & a1 Tt daT &1



Q1. Who sits 4™ left of L?

L& a3 & At &1 i) bt Sar g7
(a)P

(b)S

(0

(dM

(e) None of these / BH & 1 TgT

Q2. Who among the following persons face outside?
RrTfaa o ¥ Rpl-ar ey e B 3R 3T
(@AM, 0

(b)N, L

()R L

(d)o,Pp

(e) None of these / 85 & #1 TgT

Q3. Who among the flowing are immediate neighbour of R?

frfafaa 7 & fht R &1 Peheas w==i &

(@) P A
(b) M

(c)S

(dQ

()0
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Q4. Which of the following statement is true?

PRRTda R T s T

I. P and Q sit diagonally opposite to each other
P 3R Q v Y & e Adda 35 )

IL. S does not face outside

S AT Y 3 3T T

IIL. N and R are immediate neighbours

N 3R R [Asheda g3t

(a) Both I and Il are true / 1 31 11 {2t @ €|
(b) Only Il is true / & fX 111 G &1

(c) Both Il and 111 are true / 11 3R 111 {2 @ &1
(d) Both I and I are true / 1 3i% 111 X &7 §1
(e) None is true / g T T F38T g1

Q5. What is the position of S with respect to M?
M & TAfHT 3 S T e a7

(a) 2" to the right / T30 & F3ERT

(b) Immediate left / 81 STT



(c) 2" to the left / &TC & T@T
(d) 3" to the right / 370 & =T
(e) None of these / B8 & 18 fO&T

Directions (6-9): Study the following information carefully and answer the questions given below:

e e fomerRY &1 farqde 3reafd et 3 O e 1w gest & 3R fere:

R has 2 children of different gender. A is the brother-in-law of T who is unmarried. D is the cousin of M
who is granddaughter of R. B is the aunt of L. who is the only daughter of K. Q is the mother of B. A is the
spouse of K. T is the aunt of L and have only one sibling. C is the son in law of R.

R& fRr-3rer Sisx Hr 2 wfar €1 A, T R-BfF &, T S 3198o=ga §1 D, M &7 FeAfor &, M ST R T 35
3feT & I B,LFr 3 g, LT KPrsfrtdr aér &1 Q BRI AN g1 A, K a1 SHfoqamefr 81 T, L & 3me &, 31R
391 & fox weh afgR 81 ¢, R &1 -1 81

Q6. Who is the grandson of Q?
Q& I=TH font &7

(M

(b)T

(L

(d)D

(e) None of these / BH & &1 TgT
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Q7. How many females are in the family?

TN H GohidT AATRTT 87

(a) Four/dX

(b) More than five / 91T & 31faie
(c) Five / 9=

(d) Three / for

(e) None of these / B & &1 fO8T

Q8. Who is the brother-in-law of A?
A& fSR-FB3fF fnt &7

(a)Db

(b L

(c)M

(d)C

(e) None of these / B8 & &1 fgT

Q9. Who is the mother-in-law of K?
K & fAR-f3f1 font &7

(@ Q

(b) B

(M

(d)T

(e) None of these / 88 & &1 T3gT

Q10. How many pairs of letters are there in the word ‘REFRIGERATOR’, each of which have as many letters



between them in the word as they have in English alphabetical series (both forward and backward
direction)?

Q19> ‘REFRIGERATOR’ # &R & UH Gebid 7 §, AToTa & Tedeh o e 3t 1 378 8 wAoiicl aeh 373t
afAm ST 3 3R 9 Y et S 87

(a) One / Tah

(b) Three / fat

(c) None / 1S 8T

(d) Two / f

(e) More than four / IR & 37

Directions (11-15): Study the following information carefully and answer the questions given below:

feFafafere fomerRY &1 farqde 3reafy drerert 3 f few 1w gestt & 3R feere:

A certain number of persons sit in a linear row facing north. R sits 4™ from one of the extreme ends. S sits
3" to the left of R. One person sits between D and S. D sits 3" to the left of T. Two persons sit between T

and U who sits just left of B. More than one person sits between R and B. X sits 2" to the left of L and is an
immediate neighbour of B.

gt & Teh fAfrd Jear 3o 1 3R 31eH gl Ten Aeish afel & 361 &1 R gohdll Teh 3T SR & 919
Rar oX AT S, R & S & N BUT % Fa7 &1 D 3K S & 7T U afer Far &1 D, T 9t & Ny e
WIdsT gl TIR U 77 iy FfF 33 &, U B St a1 907 &1 R 3R B & ALY Tah W 31 i 8
EIX Leada foar feur qv o1 & 3R € B &7 fAsheds q2re g1
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Q11. What is the possible minimum number of persons sit in the row?

il F §& caferat hr TeTet g eTer Heam gehich g Tehcll 82
(a) 17
(b) 18
(c) 14
(d) 13
(e) 12

Q12. How many persons sit between R and X?
R 3R X & HEY ehldl ATl 943 &2

(a) Six/ B8

(b) Four /IR

(c) More than seven / 810 & 3ifa&

(d) Three / falY

(e) One / Tah

Q13. What is the position of D with respect to B?
B o HelT3#d # D o 78T 7T 82

(a) 7" to the right / 27T & |0

(b) 2™to the right / 310 & f3ERT

(c) Immediate left / 1 §TT

(d) 3" to the left / STT & ERT

(e) None of these / 38 & &1 T3¢

Q14. The number of persons sit between S and T is same as the number of persons sit to the right of



(in case of minimum number of persons).

S 3R T & HET & Iy 1 gear 3fah & g, Torfar & fO18 3R 8 afarar fr g g1 (cafaar $r
fegas aear & &l )|

(@)X

(b) B

(U

(dR

(e) L

Q15. Who among the following sits near to D?
fAFafafaa & @ ol D & fawe dor ?

(U

(b)B

()R

(d)X

(e)S
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Directions (16-20): In each of the questions below are given some statements followed by some
conclusions. You have to take the given statements to be true even if they seem to be at variance with
commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

R foT 91T e 99t H F © Y 3R 30 A1 oo sy few arw 8| smoent few arw At @ fAm
& & oy e qza & e g @1 g1 T3 frsehst b 08 AR RR 7 FHeteTe g R a1 ot
:ﬁr@ri?m fosehya AATT T § AT TLAT T R GehT ATeT [GT 31T AT T drehad o &9 & 13T
Adrel

Q16. Statements:

Some Rocks are Marble.

No Marble is Concrete.

S

%  Ueh, AGT E

IS AT, & e DT Y|

Conclusions: / fAshya:

I. Some Rock are concrete./ $ & U, et
II. No Rock is concrete. / Elflé {eh, Thehic T8I &
(a) If only conclusion I follows.

Ife & R forshva | Fa Far gl

(b) If only conclusion II follows.

afe & fo forseea 11 B axar |

(c) If either conclusion I or II follows.

I a7 ar sy 13T 11 BRRR e &

(d) If neither conclusion I nor II follows.

e, T ot forsenwa 1 3R 7 €1 11 3R e B
(e) If both conclusions I and II follow.

afe fseva 1 317 11 R e e £

Q17. Statements:
Some City are not Town.
All Town are Metro.

i



% T a9, af3 gl €

it a3, AT E

Conclusions: / fshya:

L. Some City are Metro./ & & ST, Her gl

I1. All City being Metro is a possibility. / T wTET & Aer el & FHTT gl
(a) If only conclusion I follows.

Ifg & o forsava | TR AT &

(b) If only conclusion II follows.

Ife & o forsava 11 ey aar gl

(c) If either conclusion I or II follows.

Ife a7 ar forsehsa 13T 11 BRRR e &

(d) If neither conclusion I nor II follows.

Ife 7 af forsepsra [ 3R 1 81 11 F3E e 2
(e) If both conclusions I and II follow.

afe frsewa 1 317 11 T e e B
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Q18. Statements:

Only a few Fish are Turtle.

All Turtle are Rabbit.

S

& X % & four, zefa gl

it cefa, Iac g1

Conclusions: fosehva:

I. Some Fish are not turtle. / ) feer, eefa 18T §1
II. No Turtle is Fish./ Elflé' zefa, fear 1ogi &
(a) If only conclusion I follows.

Ife & fiY foreanva | TR AT &

(b) If only conclusion II follows.

Ife & Fox frserwa 11 FFEg AT 8

(c) If either conclusion I or II follows.

Ife AT A forsepsra 137 11 F3ERY AT B |

(d) If neither conclusion I nor II follows.

Ife; & ar forsehwa 1 3117 7 €Y 11 T3ag s 81
(e) If both conclusions I and II follow.

afe faseva 1 317 11 R Fag e B

Q19. Statements:
Some clouds are water.
Some waters are Star.

CAEIE

% T HII3S, T 8|
% T e, TR E
Conclusions: / sy a:

I. Some cloud can never be star. / ?j ) EEf\IB_s", FT TR f\ﬁﬂ' ET T | 11 All
Could being water is a possibility. T HT38, & e fal hr THTT B



(a) If only conclusion I follows.

afe & Fix frserwa | FER At g

(b) If only conclusion II follows.

Ife & X forswva 11 BER X g

(c) If either conclusion I or II follows.

Ife a1 ar forserwa 137 11 R AT g

(d) If neither conclusion I nor II follows.

Ife 7 af forsepsra [ 3R 13 81 11 F3E e g
(e) If both conclusions I and II follow.

afe forsewa 1 317 11 T e e B
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Q20. Statements:

Some earbuds are phone.
All phone are charger.

S F & $Was, W

Tt oY, areraR €1

Conclusions: / fAshya:

I. All earbuds can be charger. / 8T éu(qsa, TTeTay &1 Hohd & |
II. Some Phone are not charger. / T @ oY, arera] fogT gl
(a) If only conclusion I follows.

Ifg & fi foreanva | TR AT &

(b) If only conclusion II follows.

Ife & oy forsawa 1 e a=ar gl

(c) If either conclusion I or II follows.

I7e a1 ar forsrya 137 11 FAER a1 g

(d) If neither conclusion I nor II follows.

Ife 72 dr fseya 1 3R 13 €1 11 T3E e &

(e) If both conclusions I and II follow.

afe fsewa 1 317 11 R e e B

Q21. If in the given number “3852364718” 1 is added to the odd digits and 1 is subtracted from the even
digits then what will be the sum of the digits which are 3™ from the right end and 5" from the left end in
the number thus formed after rearrangement?

Ife 2 1S TEAT “3852364718” & ATH 3ieh! 7 1 SNST AT § 3R T 37 & T 1 gerr Jrar §,ar

(a) 15

(b) 13

(c)16

(d)12

(e) 11

Directions (22-25): In these questions, relationship between different elements is shown in the
statements. The statements are followed by two conclusions. Give answer.

S oeat 7, ST 7 FAAs1esT axot & dra gafs or foemaar 7 1 w37 & for for osewg few are §1 397 ffstero|



Q22.

A
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(a) If only conclusion I is
true. If¢ & f\{ forsehug |
i
(b) If only conclusion II is
true. JTe & T\{ [GA:CRI
i
(c) If either conclusion I or Il is

true. IS IT AT [AShya 13T 11 I
gl

(d) If neither conclusion I nor Il is
true. Ife fF A Aspwg 13k v 1
T &1 (e) If both conclusions I and II
are true. If¢; fosepwa [ 3R 11 TRt @

gl

Q23.

A

(a) If only conclusion I is true. If¢
& oY fspya | T £

(b) If only conclusion Il is

true. Jfe & T\{ [GA:CRI

Tagl

(c) If either conclusion I or Il is

true. IS IT A [AShya 13T 11 I
gl

(d) If neither conclusion I nor Il is
true. Ife fF A Aspwg 13k v 1
T &1 (e) If both conclusions I and II
are true. If¢; fosepwa [ 31X 11 TRt @

gl

Q24.



A

(a) If only conclusion I is

true. If¢ & ﬁ forsehua |
Tagl

(b) If only conclusion Il is

true. If¢ & f\{ forsehya 11
Tagl

(c) If either conclusion I or Il is

true. IS IT AT [ASehya 1 AT 11 I
gl

(d) If neither conclusion I nor Il is
true. If¢ & A [Fsepwa 13RS & 11
T &1 (e) If both conclusions I and I
are true. If¢, fosepwa [ 3R 11 TRt @
gl
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Q25.

A

(a) If only conclusion I is true.

Ife & o foseva | acT &1

(b) If only conclusion II is true.

afe & X fashva 1 T &

(c) If either conclusion [ or II is true.
afe a7 ar fserwa [ a1 1 T &

(d) If neither conclusion I nor Il is true.
e 2 ar msawg 1 3R @ 1o &1
(e) If both conclusions I and II are true.

gfe faseyg [ 3R 11 i aca &

Directions (26-30): Study the following information carefully and answer the questions given below:

AT [y &1 EarqEes 3reafd et 3R 7= feT 1w 9ot & 3aX feere:

Eight persons were born on two dates- 15" and 22" of four different months i.e. September, October,
November and December in the same year.

Two persons were born between S and A. S was born on an even date in the month having even number of
days. The number of persons born before A is one less than the number of persons born after B. Q born
just before B and two persons after R. C born after D and before P.



3176 SATAAT T SToH Toh &1 §a & TR Ter-I3ver ATl 3raraq ey, srereey, Foaw 3R fegew i for
AdIgdi- 15 3R 22 T g3 T

S 3R A & FeF T2 ATl ohr St §31T AT| S T Sfeat T fTelt o wea oy A & woh T Acf=rey bl g3
AT A Y UfE ST AT T TEAT, B & 97 ST AT 1 TE&AT T Uk A g1 Q &l 5eH B & b ufy
3R R Y AT St oY caferatt & faT g3 &1 C 7 5ot D & fo7 3R P& afg g3 &

Q26. Who among the following was born on 15" September?

AT 7 & e Sed 15 A9ds a#rgm?
(a)A

(b) R

(c)D

d)C

(e) None of these / B & 15 fET
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Q27. How many persons were born between R and P?

R 3R P % LT gopfal cafdl &1 STe g31m am
(a) Six / &€

(b) Five / 9T

(c) Four / dX

(d) Three / fir

() None / &I$ gt

Q28. Four among the following five pairs are alike in a certain manner and related to a group, who among
the following does not belong to the group?

AR fe ot At 3 F TR v R o & T § IR T g @ wE § Petataa 3 @ fkar
39 g 9 Helfold T8l 7

@s

(b) R

(c)B

(d)D

(e)Q

Q29. Which among the following statement is not true?
fArafafaa 7 & forl a1 iy T 38 82

(a) Rwas born just before A

RT ST A & S 9l §31T 27|

(b) C was born in December month

C T SToat feaa Al 3 g3 2T

(c) A was born before P

AT S P & Jfe §31T |

(d) Q and B born in the same month

Q 3 B &1 ST Tk &1 ATEY 3 g3l



(e) All are true
REN T

Q30. The number of persons born before Q is same as the number of persons born
after_. QU U TR AAATHI AT & ToT oA ITAAT hT G&AT & AT |
(a)B

(b)S

(@C

(d) P

(e) None of these / BH & a1 Togr
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Directions (31-34): Study the following information carefully and answer the questions given below:

AT [y &1 arqEes 3reafd et 3R 7= foT 71w 9ot & 3¢ feee:

Pont A is 6m to the north of point H which is 8m to the east of point B. Point B is 5m to the north of point
F. Point E is 9m to the north of point D and 8m to the east of point F. Point G is 5m to the north of point J.
Point D is 4m to the east of point G.

&1 A, ST Heh 6 HIeX 3o A §, 9af H S e B 8 #lex qd # ¥ 76Ty B, 96l Fah 5 M 3T A
€| 963 E, 961 D o 9#T 3o # 3R 9aif] F & 8ot @ & §| weif G, 9aify | o 581 3o) & §| &l D, qalfy
GHAMqE A |

Q31. In which direction is point E with respect to point A?
gaf A% Fafowa & 9613 E gona fgem a7 &2

(a) South / T3eT8R

(b) North / 3<¥

(c) North west / 3% 9feeT

(d) South east / fsTaR qd

(e) East/ qg:‘r

Q32. What is the shortest distance between point D and point J?
g3 D 3R 563 | & 7ew fogas 7l g &2

(a) V33m/ V33 #Hex

(b)N41m / V41 #Hrex

(c) 41m/ 41 #Hex

(d) 35m/ 35 Hrex

(e) None of these / B8 & #1$ TIgT

Q33. What is the total distance from point E to point ]?
et E 9 w6y | oo & 7 T eepfel 82

(a) 23m/ 23 A1

(b) 20m / 20 HreX

(c) 18m/ 18 #Hiex

(d) 25m/ 25 #HreX

(e) 19m/ 19 HreX



Q34. Four among the following five pairs are alike in a certain manner and related to a group, which
among the following does not belong to the group?

fAFafafad ara oAt & & IR vk AT 38 @ FATE 3R T THg A FefaAd 8, Aetfafard & 4 fnl-ar
38 | 9 e fogh g2

(a) A-F

(b) E-G

(c) D-J

(d) B-D

(e) EJ
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Directions (35-39): Study the following information carefully and answer the questions given below:

AT [y &1 Earqaes 3reafd $ere 3R i fEv 71w 9ot & 3aX feere:

Seven persons from A to G sit in a row such that all of them face north. Each of them likes different colour
- Black, Blue, Red, Pink, Green, Golden and White. All the information is not necessarily in the same order.
Two persons sit between E and the one who likes red. A is the only neighbour of the one who likes red. D
sits second to the left of E. The one who likes golden sits adjacent to D and sits second to the right of C.
More than three persons sit between C and F. B sits second to the left of the one who likes White. Three
persons sit between G and the one who likes blue. The one who likes black sits left to the one who likes
green and right to the one who likes pink.

A WG T T A Ueh Ui H 7 GohR S 8 &b oY Tl 3a’ T 3R 31 &1 BA @ ucdah a1 f3er-i3ver
T o & - R, TR, TP, POy, e, s 3 T 201 STl Tl e ol Fomrndy gl o o 61 E 31
7 o1 9a e iR 7o eafer & Avg oY safel $S &1 A, o7 o1 oo R 2R &7 TehAT 9l 81 D, Eh
I & FoE FeuT oX ST §1 § Sl Sore aifos o7 9t § § D o 3meT 3R C & Fork & oy Reer e dar
¥1 ¢ 3R P e R & i cafey 43 §1 B, R P o iy R Y 3 & gt P ot o ¥1 G 3R
2T o1 gt R PR & ey ol oy 96 81 € ofor o o ST e E g X T ot Ef R PR

Q35. Who among the following likes pink?
AT 3 9 aor Rl T wif 7
(@c

(b) D

(c)B

(d)A

(e) None of these / 85 & &1 TIgT

Q36. Which among the following combination is correct?
fArafafaa 7 @ font ar aafs a8 82
(a) C- Black/ C — fonTT
(b) A- White/ A— & &
(c) E- Blue/ E - fi2AT
(d) A- Green/ A—&8T

(e) None is correct / &h1s Y Ter FgT £

Q37. How many persons sit between F and B?



F 31X B & #ed gapfd eafey 8 87
(2) One/ T

(b) Two /

(c) None / 15 FgT

(d) Three / folr

(e) More than three / fdT & 31
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Q38. F likes which among the following colours?

F o Ao & & ot & o1 9 B
(a) White / T%

(b) Blue / fiT

(c) Red / Tior

(d) Either red or blue / a7 & fior I fidr
(e) None of these / B8 & &1 fO8T

Q39. Which among the following statement(s) is/are true?
fArfafad & & o ana w9 a7 8787

(a) Csits adjacent to D

C, D & 37MHeol doT B |

(b) E likes Black colour

(c) One person sits between C and B

Tah <Ofel C IR B & ALT doT B

(d) F sits at the extreme end

F 3/eTcl# B W JaT 8

(e) All are true / T T & |

Q40. If we form a four-letter meaningful word by using the second, third, fifth and ninth letter from the
left end of the word ‘MICROPHONE’, then which of the following will be the fourth letter of the meaningful
word thus formed. If more than one word is formed mark Z as your answer. If no meaningful word is
formed, mark X as your answer?

afg g 2> ‘MICROPHONE’ & a0 BR & e, i, ara{ 3R fted 378w &1 39T adeh IR 37817 &l
aqd erefS fara €, ar fovest & & font & sraaqa erafs ot it 3ree glem afe v & 31faes erafo fod &
ar Z ey 3T 3R 3| Ife IS e aafs T faar g, ar X & 31 393 i

(@o

(b)I

(©)C

(d)X

(e)Z

Directions (41-45): Find the wrong number in following number series.

fafafaa gear offor 7 [t e 79 S|

Q41.118, 151,217, 316, 445, 613, 811
(a) 613
(b) 445



(c) 151
(d) 811
(e) 316

56 adda247.com/teachers | www.sscadda.com | www.bankersadda.com | www.adda247.com
Q42.18, 21, 23, 28, 35, 46, 59
(a) 18
(b) 23
()21
(d) 35
(e) 46

Q43.2,3,8,27,112, 560, 3396
(a) 3396

(b) 3

(c) 560

(d) 27

(e) 112

Q44.8,72,121, 157,182,196, 207
(a) 182

(b) 72

(c)121

(d) 196

(e) 207

Q45. 451,502, 550, 604, 655, 706, 757
(a) 604
(b) 451
(c) 550
(d) 655
(e) 706

Directions (46-50): What approximate value should come in place of question mark (?) in following
questions?

fArAfAfad g2t # geataTdeg (?) o [T ¥ f39r87eT &1 fAT AT a1eigw?

Q46.64.98% 0f 479.99 - ? +175.01 =350.01
(a) 125
(b) 129
(c) 137
(d) 147
(e) 153

Q47. (4.01)" x 2 = (15922
Vieo1*

(a) 2

(b) 3

(c) 4

(d)1

(e) None of these
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Q48.3.99 x (? +119.94) = (7.99)°
(a) 6
(b) 12
(c)8
(d) 4
(e) 16

Q49, 14401
»+40.01 % of 249.99 = 108.09
(a) 12
(b) 8
(c) 15
(d) 18
(e) 24

Q50.? % of 1050.03 + 363.99 = (27.97)*
(a) 60
(b) 35
(c) 50
(d) 40
(e) 30

Directions (51-55): In each of these questions, two equation (I) and (II) are given. You have to solve both
the equations and give answer

BH & e weaT # 27 @y (1) 3R (1) few arw 1 3maent it aaiterec o fg dRTE IR 3o fon g

Q51.1. 0€°+ 7€ —98=0

IL96°— 90 —42=0

(a) If/afe x>y

(b) If/3fE x>y

() If/afe x<y

(d) If/afe x<y

(e) If/zlﬁf\' X =y or no relation can be established between x and y /3T x IR y & T Elflé' o TAEIT
38T T ST Gehar g

Q52.1.1209°— 700 +1=0

IL2000°— 99 +1=0

(a) If/3fe x>y

(b) If/3TE x>y

() If/Tfe x<y

(d) If/afe x<y

(e) If/afe x = y or no relation can be established between x and y /3T x IR y & o Eﬁé’ HeTS T
fo8 aondT ST GehdT B
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Q53.L.x*+13x-114=01Ly*= 216

(a) /3G x>y

(b) If/3fe x>y

(c) 1f/afe x<y

(d) If/afS x<y

(e) If/ATE x = y or no relation can be established between x and y/aT x 3R y & &IT #1$ FaT TAAIT
F3ET genar ST EhaT B

Q54.1.x°-6x+8=0ILy?+2y-8=0

(a) If/afe x>y

(b) If /3T x>y

() If/TfE x<y

(d) If/afE x<y

(e) If/aTE x = y or no relation can be established between x and y /3T x 3 y & s $IS afo FTAHTI
287 gopar ST Gehar &1

Q55.1. €9’ — 1190 +30=011. 6% — 1360 + 42 =0

(a) If/3fE x>y

(b) If/afE x>y

() If/afe x<y

(d) If/afe x<y

(e) If/TTE x = y or no relation can be established between x and y/3T x 3R y & & I HTS TATTIA
38T e ST Ghar gl

Directions (56-60): The line graph given below shows the production and demand (in tons) of items of
four different (A, B, C & D) manufacturing companies in 2019. Read the data carefully and answer the
questions.

T2 fem arar Ry 71317 2019 & ¥R 397-131e1 f@@ATaar & 9fadh (A, B, € 3R D) & &3it & 3ficur 3k #rer
(e ) = Foemaar &1 Ser &t arqds 7& 3R ueat & 3R )
4500
4000
3500
3000
2500
2000
1500
1000
500

0
ABCD

Production (in ton) Demand (in ton)
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Q56. If 80% total demand of company A and 20% of total demand of company B did not deliver at the last



moment, then find the difference between the items (in tons) did not deliver at the las time? If¢ & T A
T T2 ATaT &1 80% 3R & T B & & 7 HaT BT 20% FHATH FHY W AR fﬁgmﬁ,sﬁmm
TR AR T8 ohr 318 T3t (7€ #) o fier ahr 3ieR AT HhieAoiv |

(a) 1100

(b) 900

(c) 700

(d) 800

(e) 1000

Q57. If non-demanded items of company C were handed to company D and it added these items them in
its demanded items, then find the new demanded items (in tons) of company D?

Tie & T C T AT TeTecd T, & T D o1 |9 727 1S 81 3R 37 13 T34t ohr 17T viar &y T3 fofy w3t
# Sirs fem g, ar & o D & 138 #tar & 13 7o w07 (7€ #) w1 Shierere|

(a) 5500

(b) 5000

(c) 6000

(d) 4500

(e) 3500

Q58. If production of items of company C increased by 30% in 2020 than previous year, then find the
difference between production of items of company C in 2020 and that in 2019.

arfe; 7o §a o iy &, o T ¢ S w331t & 3ffeur 31 2020 3 30% &7 ¥ g3 &, o & iy ¢ % 2020 A gw
F33t & 3T 3R 2019 7 gU 3ficar & oIy &7 3R A1 Freere|

(a) 750 ton/ T&

(b) 1000 ton/ f&

(c) 850 ton/ f&

(d) 900 ton/ f&

(e) 800 ton/ f&

Q59. What is the ratio of sum of demand of items of company C and company D to production of items of
company B?

o T C 3R & T D ohr T3t shr ATer & et 3R & oY B ohr E3it & 3ffeur ohr T3yare

g7 (a) 37: 41

(b) 31: 23

(c)13:8

(d)9: 4

(e) 13:9
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Q60. Sum of production of company A and C is what percentage more/less than demand of items of

company D?

o T A 31T C Y w311 & 3T &t 2T, & T D & F31T 1 AT § gepfa Fefard
37TAh/HH 87 (a) 12.5%

(b) 37.5%



(c) 22.5%
(d) 40%
(e) 20%

Directions (61-63): There are three different hubs (IT, Food and Medical). Total number of employees in
IT hub are 800 and the ratio of male to female in IT hub is 2 : 3. In Medical hub total number of employees
are 1200. In Food hub total employees are 400 and the number of male and female employee working in
food hub are equal.

felr 3797-f31e1 g9 (3mSEY, @ 3 3R Asfoh) &1 IS g A FATIRIAT i i F&ar 800 ¢ IR S ga A
gest 3R AATRISN T F3urey 2:3 81 Aeisfoh g0 H HATURIAN &1 F 7 €A1 1200 81 § sgd A F
HATART 400 § TAUT | 3 & H 1A HR 3R goul AR FAfRT hAaardr H aear afArg|

Q61. The ratio of male to female in Medical hub is 7 : 5, then find total number of female in Medical hub?
AASTR g A Goul 3R AATRI3N T B3I 7:5 8, A AASTR g A AR hr & 12 Fear A1 hreterd |
(a) 720

(b) 500

(c) 700

(d) 400

(e) 800

Q62. Total male in IT hub are what percent more or less than total female in Food hub?
ST g H % 7 oW, 5 6 A & 12 AATRI3NT & Sohi Yeterera 3ifaieh o1 e &2

(a) 50%

(b) 30%

(c) 20%

(d) 40%

(e) 60%

Q63. If total males in Medical hub is 50% more than total female in IT hub, then find the ratio of total male
in IT hub to total female in Medical hub?

IS ATsfoh g9 & & 1 oW, ISE g9 & & 1 AATRT3HT & 50% Heveh &, A ST 89 7 F 7 gt 3R
AASTR g A F T AR T Bard AT HIevor |

(a) 3:
(b) 3:
(c)1:
(d)2:
(e)2:

N w W v
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Q64. B alone can do a work in 15 days, while A, B & C together can do the same work in 5 days. If A alone

takes 8 days less than C to complete the same work, then in how many days C can complete 3/4 th of same

work?

B 37 T3 Ueh &1 &Y 15 TSl & o TahaT &, Sdea A, B3R A s A a5 e A v ara &1 afe
A 37 T3 38T Sra o U HR F CH 8 g ot F3ar 8, Y ¢ 38 e a1 3/4 79T eehfal fial 7 1 Y
TohdT 87 (a) 15 days/fie

(b) 20 days/fie




() 24 days/ffg
(d) 18 days /fie
(e) 16 days/fie;

Q65. A man invested Rs.12500 at 10% p.a. for two years on compound interest in a scheme. If total
interest received from the first scheme he invested into second scheme at 20% p.a. for two years on

simple interest, then find the total interest received by man from second scheme?

T i 7 v QS & gefe saret W Y §9 & AT 10% 9a7a ¥ 1 5% @ 12500 T Fr Foer
cenar| e digr Ao & ured % 7 saret 318 AR saret oX 72 §a & fAw 209 Jeoid o 61 72X & foady
ST & o3 gahan, dF fomdy S & safa i gred $ i sarer A1 fererr

(a) Rs./®. 3675

(b) Rs./®. 950

(c) Rs./®. 1020

(d) Rs./%. 1050

(e) Rs./%. 1080

Q66. A invested Rs.1600 and B invested Rs.2000 in a business. A invested for ‘t’ months and B invested for
(t + 3) months and A received Rs.400 out of total profit of Rs.1400, then find for how many months B
invested?

A T 1600 39 &7 fA<er gahar 3R B 3 Uah @ & 2000 93 &7 fcer gawar| A 5 v #ffr & faw
fAroer eehar 3R B 5 (t + 3) AR & AT foer gham 3R A 75 1400 392 & & 5 FU81 F & 400 392
gred g, df B I garfa AT & v fovoXer gaam

(a) 10 months/ATET

(b) 5 months/ #AfEY

(c) 8 months/ #ATE!

(d) 9 months/ ATEY

(e) 6 months/ AT
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Directions (67-71): The following table shows the total number of students in five different colleges and

percentage of Masters students in college.

fotT R g T3197-T3ver AgrareArat & ol i % 12 T&ar 3R AGTHE AR 7 WRETdeh ST & Fold=rd
&I formad g

Note: Total students in any college = Students in Masters + Students in Bachelors

e awsﬁﬂm?r{fawﬁ§f?aam = QUEITdS A OIF + &ilde H ©lF




A

Q67. Find the difference between total bachelor students in A and D together to total bachelor students in
B and E together?

A 3R D & ThATY F 3 Tl ST 3R B 3R E A Uhary & 1 Tl STl &7 3R

AT hIeTolu? (a) 118

(b) 219

(c) 231

(d)178

(e) 197

Q68. If the ratio of number of males to female bachelor students in college C is 7: 8, then find the number
of female bachelor students of college C is what percentage of total students of college C? Tfg ﬂ%‘lﬂéﬁl’l’q
C H I8 EATcTsh o1l AR AATRT Toircer ol 6 Fear #1391 7:8 §, & #geRArr ¢ f AT Fids
BTl T HEAT HGTAETATT C & F 73 ST T Gohil FeTaleld &2

(a)
(b)
(c)

(d)
(e)
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Q69. Find the average number of bachelor students in college A, B and E?

FETASTATT A, B 3R E & TGS S1ET 1 3ad §&a1 A1d FHietora?
(a) 850
(b) 860
() 840
(d) 890
(e) 865

Q70. If 4267% of Masters students of college D got scholarship, then find the number of Masters students
of college D who didn’t got scholarship?



Ife ATTISTATT D & 42°,% IRIEATdh BTAT &l STAAT ATHAT &, Al HASTAGTATT D & IRIEATAh STAT

AT AT HITAT Aolog STILAT TogT 1A 7
(a) 63
(b) 71
() 56
(d) 78
(e) 68

Q71. Number of Masters students in college B and C together is what percentage more/less than that in
college A?

FATAGTATT B 3R C H THATY TATARII BT T HEAT HGIIG,ATT A § Gehfdl FeIderd
3ifae/aa 87 () 100%

(b) 200%

(c) 150%

(d) 50%

(e) 75%

Q72. A train can cross a 100 meters long platform in 12
seconds. If train crosses a bridge, which is double of its length
in 21 seconds, then find the speed (in m/s) of the train?

T RAMET 100 #Hiex o gfdfetag i 12 A 3 7 IR & Fehal
I

REMET 21 @ 5 7 Uah Y AT IR A 8, S 5@y foars @ A
RAmSr &7 37T (FH/Ah 3 ) AT FieTore?

(a) 12

(b)15

(c)18

(d) 20

(e) 24
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Q73. A shopkeeper marked up the price of an article by 40% above cost price and he allows 25% discount
on marked price. If shopkeeper earns Rs. 420 as profit, then find his profit (in Rs.) when he allows
discount of 20% instead of 25%?

T TEIRATR Ueh & T Hed T Hod U 40% 31feieh 3igehd T ¢ 3R § 3iashd Hed W 25% i ge far
g1 afe TR forer & 9 7 420 $9 FATAT B, dF 38T 3187 (T H) AT AT A § 25% & So1d 20%
(a) Rs/? 1204
(b) Rs/F 1240
(c) Rs/% 1180
(d) Rs/% 1008
(e) Rs/2 1080




Q74. In an election only two candidates participate and candidate ‘P’ got 50% less votes than ‘Q’. If Q got
200 votes less, then there would have been a tie. Find the total number of total votes polled? Teh @'I{ A&
R 2 3R amer 5 § 3R 3R P &l 'Q & 50% FaA Ad ARG &1 I Q FF 200 AT A
AT, Tt SreRY g1 Sreit| 27 91w o 2 #cll iy Fear A1 Hietore?

(a) 800

(b) 2000

(c) 1600

(d) 1200

(e) 1400

Q75. The ratio of P’s age four years hence to Q’s age two years ago is 4 : 5 and the average of their age
three years ago was 23 years. Find the present age of P?

R ¥a fa1 P T 3y 3R 2 S g Q hr 31y &t T3aret 4:5 8 3 et ¥ q T3ehr 31y =t 3itaret 23 e 27|
P &Y TTa AT 3y AT dietore?

(a) 25 years/Sa@

(b) 29 years/¥a

(c) 23 years/S¥a

(d) 33 years/§a

(e) 20 years/Sa@

Q76. The sum of area of a circle and area of a rectangle is equal to 2136 sq. cm. If the diameter of the circle
is 42 cm & the breath of the rectangle is 30 cm, then find the difference between the circumference of the
circle and the perimeter of the rectangle?

Teh 3T & &1 30T v 313 & & &7 Ie1 2136 319 AT & ST BT §1 I T o1 earg 42 9o g 3R
3T &1 Tiss 30 QAT §, df T i I 3R 3 & TRIATT & o 7T 3R AT HIeAotw? (a) 42 cm/THT
(b) 22 cm/T&T
(c) 30 c/JHT
(d) 11 cm/3sY
(€)18 con/THY
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Q77. Average of marks scored by Deepak in English, Hindi and Math is 70 and average marks scored by

Deepak in English and Math are 73. If marks of Deepak in Science are 25% more than his marks in Hindji,

then find average marks scored by Deepak in these four subjects?

e ganr 336N, e 3R T H grea 37et & 3iEa 70 € 3R e garT 3RS AR a7 grea
37ept o1 3raa 73 &1 Ife AfAT & fues & 31 8T 7 3T 370 @ 25% s &, aF B IR a5y 7 g
(a) 76.5

(b)72.5

(c)71.5

(d) 75.5

(e) 78.5

Q78. A vessel contains 80 liters mixture of water and milk in the ratio 5 : 3 respectively. If 20 liters



mixture from the vessel is completely replaced with milk, then find ratio of milk to water in the final

mixture in the vessel?

T Fdfd 7 80 Fex Al 3R 2y a1 1o shaver: 5:3 & 3ot A 81 37 safa & 20 fer s A Q@ g
T O o f&m Siram §, ar 9afa # 3ierdA stas 7 o 37 [t &1 3[ard 3 Shiefer?

(a) 17:15

(b) 5:4

(c) 3:2

(d) 11:7

(e) None of the above.

Q79. The speed of car A and car B is x km/hr. & (x + 20) km/ hr. respectively. If car A moves from P to Q
and car B moves from Q to P, then they meet in 5 hours. Car A takes 2 hr 15min more than car B to cover

distance between P and Q. Find the distance between P and Q?

HR A 3R HR B & I A x Sahal/aer 3R (x + 20) cral/aer gl I FR A, PH Q Fr 3 A & 3k
R B, QAPH IR AMNE, AT X5 e AATRNEI FRA PIAR QF o Hr N ag sR A SR B A 2 ger
15 A 31faAeh T3 &1 P 3R Q & &I & FlY AT hietare?

(a) 800km/cHaT

(b) 720 km/ShHT

() 900 km/cehHaT

(d)1080 km/gaRHT

(e) 1260 km/cmaT
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Q80. Speed of a motor boat in still water is 18 kmph. If the motor boat travels 90 km along the stream in 3

hours, then find the time taken by the motor boat to cover the same distance against the stream? #¥2R &
H Ueh AT dI FY A0 18 GHA/ET g1 AT AT §ie 3 8¢ A F3RT & /1Y 90 ghaT T A1 AT g,

(a) 18 hours/ac

(b) 15 hours/&¢

(c) 16 hours/&c

(d) 17 hours/&¢

(e) 19 hours/&c
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IBPS RRB PO Previous Year Paper - 2022 (Solution

Solutions (1-5):

A

$1. Ans.(b)
$2. Ans.(c)
$3. Ans.(a)
S4. Ans.(d)



$5. Ans.(c)

Solutions (6-9):

A

$6. Ans.(d)
S$7. Ans.(b)
$8. Ans.(d)
S9. Ans.(a)

$10. Ans.(e)

Sol.
Solutions (11-15):

A

$11. Ans.(d)
$12. Ans.(a)
$13. Ans.(e)
$14. Ans.(c)
$15. Ans.(c)
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Solution (16-20):

$16. Ans.(c)
Sol.

A

$17. Ans.(b)
Sol.

A

$18. Ans.(a)
Sol.



A

$19. Ans.(b)
Sol.

A

$20. Ans.(a)
Sol.

A
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S$21. Ans.(d)
Sol. Number-3852364718
After rearrangement- 4761453827
Sum= 8+4=12

Solution (22-25):

$22. Ans.(c)
$23. Ans.(d)
S$24. Ans.(d)
$25. Ans.(a)
Solution (26-30):
Month Date Persons
September 15 D
22 R
October 15 A
22 Q
November 15 B
22 S
December 15 C




22 P

$26. Ans.(c)
$27. Ans.(b)
$28. Ans.(e)
$29. Ans.(d)
$30. Ans.(a)

Solution (31-34):

A
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$31. Ans.(a)
$32. Ans.(b)
$33. Ans.(c)
S$34. Ans.(d)

Solution (35-39):

A

$35. Ans.(b)
$36. Ans.(d)
$37. Ans.(d)
$38. Ans.(c)
$39. Ans.(e)

$40. Ans.(e)
Sol. “ICON, COIN”

S$41. Ans.(b)

Sol. Wrong number = 445
Patter of series -

118+ (33 x 1) =151
151 + (33 x 2) =217
217 + (33 x 3) =316



316 + (33 X 4) = 448
448 + (33 x 5) = 613
613 + (33 X 6) = 811

$42. Ans.(c)

Sol. Wrong number = 21

Patter of series -

Addition of consecutive prime numbers
18+2=20

20+3=23

23+5=28

28 +7=35

35+11=46

46 + 13 =59

$43. Ans.(c)

Sol. Wrong number = 560
Patter of series -
2x1+1=3
3x2+4+2=8

8 x3+3=27

27 X4 +4=112

112 X 5+ 5= 1565

565 X 6 + 6 =3396
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S44. Ans.(d)

Sol. Wrong number =
196 Patter of series -
8 +8%=72

72 + 7%= 121

121 + 6%= 157

157 + 52=182

182 + 4°=198

198 + 3%=207

$45. Ans.(c)

Sol. Wrong number =
550 Patter of series -
451 +51 =502

502 + 51 =553

553 + 51 = 604

604 + 51 =655

655 +51 =706

706 + 51 =757

$46. Ans.(c)
Sol. 65% x 480—? +175 =
3507 =137

S47.Ans.(b)
Sol. 4’ x 2 =162



Vie*

4_? X 2 =256
2

4’ = 64
4'=(4)°
7=3

$48. Ans.(c)

Sol. 4 x (? +120) = (8)*
4 x?="512— 480
?7=32

?7=8

$49. Ans.(d)
Sol, 144 4 40
144 ' 108
»+100=108
144
=8
?7=18
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$50.
Ans.(d) Sol.
?

100X 1050 + 364 = (28)?

?

100X 1050 = 784 — 364
?

7= 420x100

1050
?7=40

S$51. Ans.(e)

Sol.

L 00’ + 760 -98=0

00’ + 1400 - 700 -98=0
9900 +14)-7(00+14)=0
(00 +14) (@0 —-7)=0

@0 =-14,7
IL06°— 00 —42=0

@0° - 700+ 600 —42=0
0000 -7)+6(00—-7)=0
(0@ +6)(@0—-7)=0

€0 =-6,7

So, no relation can be established between x and y.

$52. Ans.(b)
Sol.

.1200°- 700 +1=0



1200°— 4106 —-300+1=0
4909300 —-1)- 1300 —-1)=0
(300 —1) (400 —1)=0

oo =114

IL2000°— 900 +1=0

2000°— 500 — 400 +1=0
500400 — 1) —1(499 — 1) =0
(4909 —1) (50 —-1)=0

oo =%

So, 00 > 09

$53. Ans.(d)

Sol.
Lx*+13x-114=0
x>+ 19x - 6x - 114 =0
x(x+19)-6(x+19)=0
x+19)(x-6)=0
x=-19,6

ILy3=216

y3: 63

y=6

So, 09 < ¢@
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S$54. Ans.(b)

Sol.

Lx*-6x+8=0
x*-4x-2x+8=0
x(x-4)-2(x-4)=0
(x-4)(x-2)=0
x=2,4
ILy*+2y-8=0
y2+4y-2y-8=0
y(y+4)-2(y+4)=0
y+4)(y-2)=0
y=-472

So, 00 > 0o

$55. Ans.(d)

Sol.

. 90°— 500 — 609 +30=0
99(99 —5)—6(€0—5)=0
(€ —5)(99 —6)=0
90="56

.00’ — 600 — 700 +42=0
99(99—6)—7(09—6)=0
(€ —6)(©0—7)=0

90 =067

So, 00 > 0o



$56. Ans.(b)
Sol. Required difference = 2000 x 80

100— 3500 x?°
100

=1600 — 700 =900

$57. Ans.(d)
Sol. Required new demanded items (in tons) of company D = (3000 —2500) + 4000 = 4500

$58. Ans.(d)
Sol. Production of items of company C = 3000 x 130

So, required difference = 3900 — 3000 =900 0090

$59. Ans.(c)
Sol. Required ratio __2500+4000
4000

_6500

4000= 13:8
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$60. Ans.(b)
Sol. Required percentage =(2°00+3000)~4000
4000% 100
_1500
40— 375%

Solutions (61-63):

Total male in IT hub = 800 ><25= 320
Total female in IT hub = 800 — 320 = 480

Total male in Food hub = #°°
2= 200
Total female in Food hub =400 —200 = 200

S$61. Ans.(b)
Sol. Total number of females in Medical hub = 1200 ><512= 500

$62. Ans.(e)

Sol. Required percentage = 320-200

200)( 100 = 60%

$63. Ans.(d)
Sol. Total males in Medical hub = 480 x°°

100— 720
Required ratio = 320: (1200 —720) =2: 3



S$64. Ans.(a)

Sol. Let C alone takes ‘d’ days to complete the work alone
So, A takes (d - 8) days to complete the work alone

ATQ -

1 1 1
(00—8)4‘ 151t 9= 5
1

1 1
15= oo™
2

(©0-8)

d*—2309 +60=0

d=20&d=3

here vale of d can’t be 3

So, Required days = 20 X*,= 15 9000009

$65. Ans.(d)

Sol. Equivalent interest rate at 10% p.a. for two years on compound interest = 10 + 10 + 1010

=21%
100
Total interest received form first scheme = 12500 x2!

100— 2625 0000
20x2

100~— 00001050

Required interest = 2625 X

75 adda247.com/teachers | www.sscadda.com | www.bankersadda.com | www.adda247.com
$66. Ans.(e)

Sol. ATQ -
400

2000 x(99+3)~
1600 x99

1400—400
t=3
So, B invested for (3 + 3) = 6 months

Solutions (67-71): In college A,
Students in Masters = 1000 x2°

100— 200
Students in Bachelors = 1000 — 200 = 800
Similarly,
College | Total students | Number of Masters students | Number of Bachelors students

A 1000 200 800
B 1250 375 875
C 1500 225 1275
D 850 119 731
E 1400 525 875




$67. Ans.(b)
Sol. Required difference = (875 + 875) — (800 + 731)
=1750 — 1531 =219

$68. Ans.(c)
Sol. Number of female bachelor students in college C = 1275 ><815= 680
Required percentage =680

1500X 100 = 45 1,9

$69. Ans.(a)

Sol. Required average __800+875+875

2550
3=

3= 850

$70. Ans.(e)
Sol. Number of students who didn’t got scholarship =47>< 119 =68

S71. Ans.(b)
Sol. Required percentage _(375+225)-200
200X 100 = 200%

$72. Ans.(d)
Sol. Let the length of train = x
and, the speed of train = s

ATQ,
x+100

12= S === ()
And, s =¥

21--- (ii)
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From (i) & (ii)
x+100

12:X7
7x + 700 =12x
5x=700
x =140
Speed of train =>"1* A

21= 20 m/S

$73. Ans.(d)

Sol. Let the cost price of article be Rs 100x
Mark up price of article = 1009 x 140
100= €099 14009

Selling price of article = 1400 @ X7

100= €999 105x
ATQ,
~ (10509 — 10009) = 420
x= 84



- cost price = Rs 8400

Mark up price =84 x 140 =Rs 11760
=~ selling price after 20% discount
=11760 x *°

100= 94‘08
~ Profit after 20% discount = 9408 - 8400 = Rs 1008

S$74. Ans.(d)

Sol. Q got = 100x votes

So, P got = 50x votes

Total votes = 150x votes

For tie, Q’s votes = P’s votes = 75x
100x - 75x =200

x=8

Total votes polled =8 x 150 = 1200

$75. Ans.(e)

Sol. Let present age of P and Q be ‘x’ and ‘y’ years respectively.
ATQ,

X+y=23X2+3X2

x+y=52...(i)

and,

x+4

y2='5

5x+20=4y-8

5x -4y =-28...(ii)
From (i) and (ii)
x = 20 years.
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S$76. Ans.(b)

Sol. €912 + 1b = 2136 (where r- radius of circle, I- length of rectangle & b- breadth of
rectangle) 22

ox21x21+1x30=2136
] = 750

30= 25cm
So, circumference of circle = 29 @r

=2 x%%x 21

=132 cm

Perimeter of rectangle = 2 x(1 + b)

=2 (25+30)

=110 cm

=~ Required difference = 132 - 110 = 22 cm

$77. Ans.(b)
Sol. Marks of Deepak in Hindi = (70 X 3) — (73 X 2) = 64

Marks of Deepak in Science = 64 x 12



100= 80

Required average = 64+80+73x2
4= 72.5

S78. Ans.(a)

Sol. ATQ,

Quantity of milk in the final mixture in the vessel = (80 ><38) - (20 ><38) +
20 = 42.5 liters

Quantity of water in the final mixture in the vessel = (80 ><58) — (20

><58) = 37.5 liters

Required ratio = 425

37.5= 1715

$79. Ans.(c)

Sol. Let the distance between P & Q be ‘d’ km.
ATQ,

d=5 (x +x +20)

= d =10x+100 -------- (1)

and,

oo
*0
*0
(«w+20):94 """"""" (ii)
From (i) & (ii)
9x* - 620x- 8000 =0
= x=80or 1%
9
Required distance = 10 x 80 + 100 = 900km
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$80. Ans.(b)

Sol. The speed of motor boat in still water =x =18
km/hr Let the speed of current is y km/hr
ATQ

90

18+ @6=3
y = 12km/h
time taken by it to cover the same distance against the stream
_90
18—12=906
=15 hours
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IBPS RRB Clerk Prelims Previous Year Papers (2023-2022)

IBPS RRB Clerk Prelims Previous Year Paper - 2023

Directions (1-5): Study the following information carefully and answer the questions given below: Certain numbers of
persons sit in a row face north direction. E sits 2" to the right of F. Two persons sit between G and E. D sits immediate right of G.
The numbers of persons sit to the left of D is same as to right of C. Four persons sit between D and H who does not sit near F. C
sits 2™ to the left of H. B sits 2" from the extreme end but not sit near E. No one sits left of F. A sits 2™ to the left of G.

At forer 1 farqde 3reafd hieert 3R = fgw 1w geatt & 3a¢ e |

T Gl & AT dear & $o cafer 3o G 1 3R w IS E1E Fah IO @ g Rr W deT 81 G R E S & 1Y
Y 85 §1 D, GFH Sk AT T &1 D & 918 30T 3 At i I, ¢ & fors 30 9 cafaay i gear & gfAar g D3R H, s
Fa& g [T 91 8, & a9 aR <afd 38 §1 ¢, HF a8 3R A Four fEr 9T 91 81 B 3ar oR ¥ foay ffar R dor RefF ES
are f3gT SoT §1 F o aTaY 3R 1S FOdT SaT &1 A, G o it 3R fak e w sar §1

Q1. Who sits 3" to the right of D?



D & ford & e Fem ux ot dtar 2
(@) G
(b)E
(c)A
(d)cC
(e)H

Q2. How many persons sit in the row?
gfeY # gonfd eafal 36 82

(a) 21

(b) 17

(c)19

(d) 18

(e) 16

Q3. How many persons sit between C and A?
C 3R A% i gapfd el 35 82

(@1

(b) 2

(c)3

(d) 4

(e) More than 4 / 4 & 3ifas

Q4. Four of the following five are alike in a certain way and hence form
a

group. Which of the following does not belong to that group? A
WWﬁﬂW@WW@ﬁ%WW@W
I
fefafad & & font 39 Hopg @ Gafora 8T 82
(@) E
(b) G
(A
(d) F
(e)D
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